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1. A body is executing simple harmonic motion with frequency ‘n’, the frequency of its potential

energy is
(1) 4n (2)n
(3) 2n (4) 3n

€ .0

n eIh AHTOIwT G&meorl  eeflll  FiflemF QUIGHESHemeT @M GQUITIH6T
GMASTHTRMSE. GH60T HleMEVWITM MV 85 MT6T 3{H [T Q 6U6T0T 6T60TLIS!:

(1) 4n (2) n
(3) 2n (4) 3n
Answer (3)

2. Polar molecules are the molecules

(1) Having a permanent electric dipole moment.

(2) Having zero dipole moment.

(3) Acquire a dipole moment only in the presence of electric field due to displacement of
charges.

(4) Acquire a dipole moment only when magnetic field is absent.

DEMETWI(LND PLNEVE T MG 6T 6TEDILD CLOGVE o MG 6T

(1) BlemeuwmeTQSTH L6T @) LNEm6T FH(IHLILISHMen6oTd Q& MTeuoTL 606,

(2) &8 16T @) W66 H([HLILISTHMET 685 T6o0TL6m6).

(3) wm L 6dTL]6VLD lemLDLl QUMIGUMS! L (HILD, Ll BTemIT L L5185 61 63T
@LUQUWIFFRIWIML (b 6T @) (Wem6T HHLILIS HMen6oTLl GLIM & Ja lQUIED6.

(4) @ &MHsLLD Aol QumTs Cums  WLGWL, @M WeT @) JwLeneor
FHLILS Hmemeorl] QLM & o lqUIen6.

Answer (1)

3. Column-I gives certain physical terms associated with flow of current through a metallic
conductor.
Column-II gives some mathematical relations involving electrical quantities. Match
Column-I and Column-II with appropriate relations.

Column -1 Column - II
. . m
(A) Drift Velocity P) e
(B) Electrical Resistivity (Q) nevd
(C) Relaxation Period (R) jn—E T
(D) Current Density (S) %

(1) (A) - (R), (B) - (Q), (C) = (8), (D) = (P)
(2) (A) - (R), (B) - (S), (©) = (P), (D) - (Q)
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(3) (A) = (R), (B) = (S), (C) - (Q), (D) = (P)

(4) (A) = (R), (B) — (P), (C) — (S), (D) - (Q)

Bigew - I et @ 2. Gune:sd &HLH5H ablunsll umwb  WerCerml LEC & T
QsmLIyenLw GOUULL Qumiwe usE&GEamas SHHBMS. mlgev - II ereTLS!,
LAl 6BTEOfILLIGL BI6TEM UG ENET 2 6TMTL SR Flev HeooTEHRIIN QSHTLIL&GTTGWm. mliyev — I
mmid Blgev - I sy&weumnilener 2 flil QSTLITLS6TTEL QUITHESIS%.

Blgev — 1 Blgev — 11
(A) p&Te B CousksLd (P n:;p
(B) Wil6dT B60L_Q WLi6TOT (Q) neva
(C) @uleys Smevld (R) % T
(D) &G L 2ILTSHS (S)§

(1) (A) - (R), (B) - (Q), (C) = (S), (D) - (P)
(2) (A) = (R), (B) = (8), (C) — (P), (D) - (Q)
(3) (A) - (R), (B) - (8), (C) - (Q), (D) — (P)
(4) (A) — (R), (B) — (P), (C) - (8), (D) — (Q)
Answer (2)

Two charged spherical conductors of radius R: and R= and connected by a wire. Then the ratio
of surface charge densities of the spheres (g, /0,) is

R Ry
@ % (2) o
Ra 1]
©FS ORI
R: wommiih R: oyl Q&meool @@ WeTtearl LU L  G&Hmem  allgel &HLSH&ET,

sLUGWMeaTMleoTmey G emetors&SLUILLEH 2 aTerer. (0,/0,) 6D G MTOTMRIS EHS & e
et L1 UFLIL LT55&EH85&M6r alHSD 6reTLIg!:

OF: (2) 2
©FS @ |3
Answer (3)

A parallel plate capacitor has a uniform electric field ‘E” in the space between the plates. If
the distance between the plates is ‘d’ and the area of each plate is ‘A’, the energy stored in the
capacitor is (g, = permittivity of free space)

1) E?Ad

€0
(3) g, EAd (4) 5 goE2Ad

1
(2) > £0E2
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@ @emeurdESL(H WaTCHE:), FeaTal FL(H&H6EHHEG @ LU L Qelefluley FrmearQsmm
‘E’ WeTyevsHemerll QUDmIETeTs. S H\&E66HE Gl ullomar Qs mameve, ‘d LMoLD
RQIQGIMIH Sl lgersl ugly, ‘A’, eefle, WaTCHEHEHUIND CHEH meudh s LU (B D
mmevTerdl, (g, = HLLMM Qeuefluflerg LAleT oeoin& &Hmeor)

E%Ad 1 o
(W — (2) S g E
(3) e,EAd (4) 5 goE2Ad
Answer (4)

6. An infinitely long straight conductor carries a current of 5 A as shown. An electron is moving
with a speed of 105 m/s parallel to the conductor. The perpendicular distance between the
electron and the conductor is 20 cm at an instant. Calculate the magnitude of the force
experienced by the electron at that instant.

Electron v = 105 m/s

e

20 cm
P 5; A Q
(1) 8 x 102°N (2) 4 x 102N
(3) 8t X 102°N (4) 4m x 1020 N

Tl  Hemld @Q&mevor GBI  HLEHQWIMTm, LLSHO SILlqujeremeumm, 5A
LOl6OTGEOTTL SFHem60T HMTRIGHMSI. @ 6T66V& I TTeT 105 LY/6fl eTedTm CausHSH 0 &L GHH 5 G
@ 6EMEOTWLITS:  BHIRMS. @@ &eol  GCHISGHA), QSHIITOIEGEGD &HLEFH GG D
@eLUULL QFRGSHS SMFD  6arlgd, 20 6F.18 PGS /855600 CHISH 6V,
6TQEVE L TTeoTTeL 2 eooTJLILI(HID ellem& ulleorg eTevor DG LILNem6oTs & 6ooTHH (h) &.
6TQI6LETMEOT U = 105 LY /6

v

20 G5
3 5A Q
(1) 8 x 10720 [ (2) 4 X 10720
(3) 8n X 10720 [l (4) 47 X 1072 B

Answer (1)
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7.  If E and G respectively denote energy and gravitational constant, then g has the dimensions

of
(1) [M2] [L-2] [T] (2) [M2] [L] [T°]
(3) [M] [L] [T] (4) [M] [Le] [Te]

E ommib G @ wer mmev wmmitd LeufTliy wmailed ewSweumenm Wenmulms

SMS5M6, gera'wugj QUMMIHE LD LIKFILOTEsoT I &5 61T T6 60T

(1) [M2] [L-2] [T] (2) [M2] [L] [T°]
(3) [M] [L1] [T] (4) [M] [L°] [T°]
Answer (2)

8. Alens oflarge focal length and large aperture is best suited as an objective of an astronomical

telescope since

(1) Alarge aperture contributes to the quality and visibility of the images.

(2) Alarge area of the objective ensures better light gathering power.

(3) Alarge aperture provides a better resolution.

(4) All of the above

Qurflw eefllSHmUIL WLMHMID QBIQU GSTTD Q&METLASTH ell6Vemev (@H 6UMenr] Ul 6L

QEMemeCHTEHUNGET  QUTBETHE ellevemeuwins  WssF  Fflumgs QUTBHSI D

6TEOTLISM &5 IT60T & ITIJ600TLOMS @) (HLILIS!:

(1) ouflwesT®m eaflEHmLL earug, LbUBSeTgS SIWD mHmID el iLGS m et
ARWaMMINEG LIBIG el @LD.

(2) ©9®5 Urly Q&MEITL  QUTIHEMMHE& 6elevemey  6I6TLIG, BVVQSTIH  erflg
GF IG5 &S MET HMmemnerT 2 MIF G & WD,

(3) QuAlwEsTG eSS DLIL HLLOSTH LGS M6 6flehESLD.

(4) GULMEnMIW eMeTHSIID.

Answer (4)

9. Match Column —I and Column — IT and choose the correct match from the given choices.
Column - I Column - II
(A) Root mean square speed

of gas molecules (P) é nmuv-2
(B) Pressure exerted by ideal gas Q) %

(C) Average kinetic energy of a molecule  (R) SRT

(D) Total internal energy of 1 mole of
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a diatomic gas S) 2 ksT

(1) (A) - (R), (B) - (Q), (C) = (P), (D) - ()
(2) (A) = (R), (B) — (P), (C) - (85), (D) - (Q)
(3) (A) - (Q), (B) — (R), (C) - (8), (D) - (P)
(4) (A) - (Q), (B) - (P), (C) = (), (D) - (R)

Blgw - I wwmob mlgy - I wSweumenmll QuUIBSS), Q&THE&SLILLL
Qsfleyseafledmbg, Fiflumer QUTHSSSH e Qe Q& uls.
Blgev — I Blgev — 11
(A) aumuy eLPEVE: T MIGETSI @) (HLOLY
Frmeflufer auiee eneid (P)  nmur

(B) mevedlwievLy eurrujedleormey

QFRISHILED SWSHD Q 5~
(C) ® enevsannlergl &rnaifl

QWS 2O (R)ZRT
(D) e Py eumueledr GLOMeYI & & MTeoT

QMGG 2 6TeMMIHS MM 6V (S) % ksT
(1) (A) - (R), (B) - (Q), (C) = (P), (D) - (S)
(2) (A) - (R), (B) = (P), (C) = (S), (D) - (Q)
(3) (A) - (Q), (B) = (R), (C) = (S), (D) = (P)

(4) (A) - (Q), (B) — (P), (C) - (8), (D) — (R)
Answer (4)

Consider the following statements (A) and (B) and identify the correct answer.

(A): A zener diode is connected in reverse bias, when used as a voltage regulator.

(B): The potential barrier of p-n junction lies between 0.1 Vto 0.3 V.

(1) (A) is incorrect but (B) is correct.

(2) (A) and (B) both are correct.

(3) (A) and (B) both are incorrect.

(4) (A) is correct and (B) is incorrect.

(A) mmmiid (B) oS wl LNeTau®d FamMmidseners &S, &Fiflwmer aflenl_ullemneor & eoor_nls.

(A): 6T 55 RMBIRMEFe| @WHH T @UuSsHL LGWLEUTS @@ g6ty LEWT(H
Ner@eormiIss & & FmiyLiley @) 6meordsas LGN,

(B): p-n FHEH et WeTeT(WHS 2iFevor 0.1 Vedmhg 0.3 V&HE& @enLuley oemou]Lb.

(1) (A) eteorug FfluMmma apermev (B) etedtg &FiflwimeTs.

(2) (A) bmmib (B) & w @revor(hd & flulmeoTemel.

(3) (A) wPad (B) 4Sw @reor@Ld &Flwmmene.
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(4) (A) etz sflwnerg wWMHID (B) eterug FFlwmms.
Answer (4)

A dipole is placed in an electric field as shown. In which direction will it move?
(1) Towards the right as its potential energy will increase.

(2) Towards the left as its potential energy will increase.

(3) Towards the right as its potential energy will decrease.

(4) Towards the left as its potential energy will decrease.

ULSH STLLLULLLeumm @ Ller @ wener, WL earnlel emeusdsLILGSIM .
8 THS Henauiley B (HLD?

(1) 56T Blameuwmmmey H& e G0 CUMS!, aUeVLILIGSEDMS B (HLD.

(2) si56T Blaneuwmmmey H&FlEGID CUMS!, @)L LILI&SELOMS B (HLD.

(3) SI56T Blemeuwmmmey Genmujd CLIMSI, aUeVLILIGSE NS S (HLD.

(4) Si560T BlemeuwmMmey Genmujd CUIMS!, @)L LILI&&LIOMS B8 (HLD.

Answer (3)

A convex lens ‘A’ of focal length 20 cm and a concave lens ‘B’ of focal length 5 cm are kept
along the same axis with a distance ‘d’ between them. If a parallel beam of light falling on ‘A’
leaves ‘B’ as a parallel beam, then the distance ‘d’ in cm will be

(1) 30 (2) 25

(38) 15 (4) 50

20 Q&F.15. @amyb Q&maL ‘A’ eaild @M &all aleene WMHMID 5 QF.15. &elsTTwD
Qaneor. ‘B’ aemild @ GWallevemen auGuwer ‘d el @emLSTISEH6 &FlO 355
FHengwley oem&HEL UL (HeTerer. ‘A’ Ligl ell(Wlh @) 6meooTWMeTQ ST sefldHmmenm B’
aPNIGW @) em6tord&HMenmWNE: QelalGUMIBMG. 6refley ‘d’ eTenild STFLD Q& .10 L fle:

(1) 30

(2) 25

(3) 15

(4) 50

Answer (3)
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13.

14.

15.

The escape velocity from the Earth’s surface is v. The escape velocity from the surface of
another planet having a radius, four times that of Earth and same mass density is

(1) 4v (2)v

(3) 2v (4) 3v

LelUuurluedmbal, elGU® HengGaudsld 6TetTLSI, U Q&G LWD. LLIulergl 217655 60T [HITeoT &
OLMIE QWTWWn  Fowmer  Bleom  SLISHUD Q&Moo Lmemmm  GHmers
LUrUedmmhal, U HenF Goud LOMeTsi:

(1) 4v (2)v
(3) 2v (4) 3v
Answer (1)

A radioactive nucleus 4X undergoes spontaneous decay in the sequence 4X —,_; B—>,_,
C —,_, D, where Z is the atomic number of element X. The possible decay particles in the
sequence are

(1B, B* (2) @, B, B*

(3) o, B*, B~ (4) B*, a, B~

2X eeild @M SHWES JAMESHB ML WEHMIGU searalwal Hangalar el s
wem, 4X —>,_1B—>, 3 C—,_, D, @R Z aeatugl X afllnsHear e 616 G, @bs
aifleng e mUileh BIGLPEFalqll FemG6)] S8 68 6T 6T6oTLI6T (LN6tM G

B, Bt (2) o, B7, B*
(3) a, B*, B~ (4) B*, a, B~
Answer (4)

A screw gauge gives the following readings when used to measure the diameter of a wire
Main scale reading: 0 mm

Circular scale reading: 52 divisions

Given that 1 mm on main scale corresponds to 100 divisions on the circular scale. The
diameter of the wire from the above data is

(1) 0.052 cm (2) 0.52 cm

(3) 0.026 cm (4) 0.26 cm

@@ Werashlluler el LsHener amalll, @@ HHE& 61l LweTURSSLILIG WD CUMS],
Y eTeumLd 3jemeihsHeneTs SHIMS.

(PSEETEN 6MaC&H ML 6emai®): O L.LS.

all L gjemeCahmev jemai®): 52 Lifleyss et

(ST 6eme B medlest 1 LALLS. aul L 6emeGsmevgl 100 LNifleyseners & mls@&LlD 6T6orss
QaMR&SLILL(HeTargl. CLMsamll sresefledmbg, WerasbLlluler el LD eTeTLg:

(1) 0.052 Q&.15. (2) 0.52 Q&.18.

(3) 0.026 Q&.L5. (4) 0.26 Q&.18. Answer (1)
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16. An inductor of inductance L, a capacitor of capacitance C and a resistor of resistance ‘R’ are
connected in series to an ac source of potential difference ‘V’ volts as shown in figure.
Potential difference across L, C and R is 40 V, 10 V and 40 V, respectively. The amplitude of
current flowing through LCR series circuit is 10v/2 A. The impedance of the circuit is
LULSH s&mlLlul@eTareurml, V' eaenild WeTerWwsHs Caumitim(® Q& meooTLOSMH ac
eeVsSCsTH ‘L’ eTeild LO6OTHME00TL 60 6T600T Q& MeooTLQ ST Wledr Fmevorly ‘C’ eTemild
N 6TCSHEGHESFMET Q&MeTLQSTH WOTCHEHULD MHMID ‘R’ eTaild WeTHemL WG LIL]
Q&METLQST(H LTS LD QSTLIFMMIL @) 6m6torss & LILIL (H6Terg.

L, Copmib R 5@ GM&ERemer Wererpss Caumiuim® 40 Geaumeul, 10 Gaumeul. Lommild
40 GaumeLLl. 6retTml (WWemMWITE: Sem&@mal. LCR QsrLy wWeramniler eudlGul LImuyLb
T GeTTL_ L SS6tT efd &, 10V2A Spbllwiy s, Weremmlasier W6TOMILIL] 6TeTLIS!:

—ISI—] W

<40 V>< 10V > <40 V>

)\
-/
"4
150 (2) 4V2 Q
(3)5V2 Q (4)5Q

Answer (1)

17. A particle is released from height ‘S’ from the surface of the Earth. At a certain height its
kinetic energy is three times its potential energy. The height from the surface of earth and the
speed of the particle at that instant are respectively

(1);5},@‘ (2)2,\/?

5|28 S 398
(33,5 (4) 3, 5
Leluglfer S 2 wpsHOmBHa @ SH&HeT alQealssliuGeRmng. EMIUNLLAST
2 WTSH6, AFHOT QUGBS MM, FHT BHlemeuWmTmMedNeT (WPIDWLBISHTGWM. 3bHs

H600TSHH60, SIHETH 2 WTD MHMID Gausksld SLGUiemed (LPemm G

w:, [ =2, 2
@2, 2 @3, 2

Answer (1)
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18. A smallblock slides down on a smooth inclined plane, starting from rest at time t = 0. Let Sn
be the distance travelled by the block in the interval t = n — 1 to t = n. Then, the ratio SS” is
n+1

2n 2n—-1

) 2n—1 (2) 2n
2n—1 2n+1

(3) Y (4) o1

19.

20.

t = 0 e@ID CHIGH), QSTLESHESEFH @ule] Blaeuledmbs m Fflu Sl
alpalIpliLmeT FTugarsHe HCp Ffl®me. t = n — 1 Wed®mbs t = n eerm

@emLQeueflufley, SLemLwmy LUWenlsasLUBD Q&Ten6ve], Sn 6T6irs. SS" TN H56)
n+1
GTEOTLIS!:
2n 2n—-1
(I)Zn—l (2) 2n
2n—1 2n+1
(3)2n+1 (4)2n—1
Answer (3)

The half-life of a radioactive nuclide is 100 hours. The fraction of original activity that will
remain after 150 hours would be

M 55 (2)
1 2
(3) 75 (4) 3

R0 SHFAUES eEEHEHET MT-SU|L SHMeUD 100 Loeoll GHILONSG 2 6Temgl.
150 etofl CHISHMGL LIMEG 2560 QFMTLESHF QF U6VMEH 8 SHH 60T LI60T60T6) LO6OTLISI:

1) 5 (2)5
3) 55 @3
Answer (3)

The equivalent capacitance of the combination shown in the figure is
ULSH 6 STLLLILLMQe6TeT Q&MT&GLIL6erg W6TCH 8 &5 M6 &FLN6GOT 6TedTLIS!:

a
= 1. L
—L
C
OF= (2) 3C
(3) 2C OF

Answer (3)
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21. The effective resistance of a parallel connection that consists of four wires of equal length,
equal area of cross-section and same material is 0.25 Q. What will be the effective resistance
if they are connected in series?

1040 (2) 0.25 Q (3) 0.5Q (4)1Q

g Herld, FIo GMESG QaulGUUILL LMD @CF QUTIHETITEVTET BT Lileor
SOLG6TL QUOHMIGTITQSTH L&HS @eneorlilers mlaT Wearseml, 0.25 Q LG LD.
emel QSTLIT &MHNleL @) en6uord: s LILILLTeY, HeumniledT BI&T Ll6oTS60)L 6T60T60T?

14Q (2) 0.25 Q (3) 0.5Q (4)1Q

Answer (1)

22, A nucleus with mass number 240 breaks into two fragments each of mass number 120, the
binding energy per nucleon of unfragmented nucleiis 7.6 MeV while that of fragments is 8.5
MeV. The total gain in the Binding Energy in the process is
(1) 216 MeV (2) 0.9 MeV
(3) 9.4 MeV (4) 804 MeV
240 [Blemm 6Tet0r Q&ML QST[H SIEGHE[H, HeoflHE 120 Blemm 6T6vor Q& Meoor @) (H
ST &eTME: 2 L HMma. LeTalemLWTE 0186 [HESH6ler @G blws erflul mers
WNemeoorLiLmmmey 7.6 MeV wmmith slevor(hssengl &L, 8.5 MeV au@h. @ nmlspeiley
LNemeoorLILIMTmmed et QLOMSSLT @ LI[HE & LD 6TeiTLIG):

(1) 216 MeV (2) 0.9 MeV
(3) 9.4 MeV (4) 804 MeV
Answer (1)

23. The electron concentration in an n-type semiconductor is the same as hole concentration in
a p-type semiconductor. An external field (electric) is applied across each of them. Compare
the currents in them.

(1) No current will flow in p-type, current will only flow in n-type

(2) Current in n-type = current in p-type

(3) Current in p-type > current in n-type

(4) Current in n-type > current in p-type.

QM n-aums GONHLEHUNaTE TQeSHTTET QFMley ETeaTLS @@ pP-euad
GSOM&ELEH g SlemeT QFMl6e|sEGE FLOMS 2 6TeMgl. SeuMl6T 6266 6UTeTmIS & &
GMIGGS, (@ LmLiLeD (Ler) efléslubGSmE. Aeaumniley 2 6Term LleoTGeuTTLL MBI & 60) 61T
NG

(1) p- auemsWiley WOETGETITL LD LIMWTGI, n- euemdHuilev WL GID LeTGeoTTL LD LITULD.
(2) n - auemasWil6hL 2 6iTem LOlETGETMTLLID = p- euem&HUlev LU (HID LOl6dTG6oTTL_LLD.

(3) p - auemsUWeL LANGTCETTLLLD > n- auemnauileL 2 6item LAl6tTGeorTL_ L LD.

(4) n — euemaulleL 2 6o LAGITGETTLLLD > p- 6Uen & Uil6L 2 6iTarm Ll6oTGeoTTL L LD.

Answer (4)
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24.

25.

26.

The number of photons per second on an average emitted by the source of monochromatic
light of wavelength 600 nm, when it delivers the power of 3.3 x 103 what will be (h = 6.6 x
10734 Js)

(1) 105 (2) 1018 (3) 1077 (4) 10

600 BT.LS. jemevBerld Q&Moo @ememm BIM a6l e BHS FrrFflung b
afleormiquiley 2 LAPLILIGID S&CUITLLITET 6T600T6001 185 6Mm&, &6 2 1AW Hmedr, 3.3 X 1073
ML eteormemow|id Gumg: (h = 6.6 X 10734 egva)

(1) 10% (2) 1018 (3) 1077 (4) 101

Answer (4)

A thick current carrying cable of radius ‘R’ carries current ‘I’ uniformly distributed across its
cross-section. The variation of magnetic field B(r) due to the cable with the distance ‘7’ from
the axis of the cable is represented by

‘R’ 6Ten)llD QLTID Q& Me00TLQ&IT(H Hlqeorinment, LAeTGermL LD STRIGIW Sbllell b (GaLleT)
FHOTE GMIGG Qe &GS GMECsH Frmes Lgalvenlbs T e WleTCermL L & ) 6m 6o
STRIGRAMS. &N 9FRNGHE T Qgmmevailey, &L el sFlerme (GssLierfleormen)
gouU®D &MHsLILen wmmmld B(r) uWemer &nls s LU0 SH6TLSI:

(6)) (2)
| [
B B
r——-> , r —>
(3) | (4)
I [
B B
Jm— r —
Answer (4)

The velocity of a small ball of mass M and density d, when dropped in a container filled with
d

glycerine becomes constant after some time. If the density of glycerine is 7 then the viscous

force acting on the ball will be

(1) 2Mg (2) =2

(3) Mg (4)2 Mg

Anna Nagar, Mogappair, Madurai & Trichy 11 9884421666 | 9884432666 | 7845227484



é ﬁ% VETRI NEET GATEWAY
= NEET PREVIOUS YEAR QUESTION - 2021

o
v

o
g

27.

28.

M pleom wHmin d LISH &TarLQsTm Hnlu ubdener, SHerlafleoreormey
BIFLUlUlL  Q&mem&EsH0  alpdF QFUIWD QuTWws, Fls CHISH6 56T

d
FemFGausld LTMME AmwRMS. ReflFifleaflar LTSS 5 eTevfley, ULIBSHer LSS

QFwWeL(BID UTHW6 allens eraTLIS!:

(1) 2Mg (2) =2
(3) Mg (4); Mg
Answer (2)

Find the value of the angle of emergence from the prism. Refractive index of the glass is /3.
WUUL L5556 ®BHSI QeuerflliLI(p) G5 MeoTSH 5 60Tl G LI em 60T 8 & 600TL_M)1&s.
& 600TEUOT ML WIS &RemleNleuEs 60 6T600T eT6dTLIS! V3 @G LD.

nl 60°
(1) 90° (2) 60°
(3) 30° (4) 45°

Answer (2)

A capacitor of capacitance ‘C’, is connected across an ac source of voltage V’, given by

V = Vosinwt

The displacement current between the plates of the capacitor, would then be given by

(1) Ia = VowCsinwt (2) Ia = VowCcoswt

(3) Ia= % coswt (4)Ia= % sinwt

V' WererWsHsDd Q&HEMOTLQSTH ac eeusHMNG GmeEcsH C  WlarCss &% m eor
Q&MeTLQ ST W6TCHHEH @) emeord: s LILIL (heTargl. @mi@ V = Vo sinwt.

(1) Ia = VowCsinwt

(2) Ia = VowCcoswt

%
(3) Ia = —2 coswt
wC

V
(4) Ia = — sinwt
wC

Answer (2)
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29. If force [F], acceleration [A] and time [T] are chosen as the fundamental physical quantities.
Find the dimensions of energy.
(1) [FI[A]LT] (2) [FI[AILT]
(3) [FI[AILT?] (4) [FI[A]I[T]
allema [F], w@®&& [A] nmmib GBI [T] oS wer g litieml @umLilwie) jeTai( & 6
6TeoTd QsIfley Q&FWWlILL LM, @pmMmeder LIFlLnmeuormig&seners & eoor(hLLg.

(1) [FI[ALT] (2) [FILAILT]
(3) [FILAILT?] (4) LFI[A][T]
Answer (3)

30. In a potentiometer circuit a cell of EMF 1.5 V gives balance point at 36 cm length of wire. If
another cell of EMF 2.5 V replaces the first cell, then at what length of the wire, the balance
point occurs?

(1) 62 cm (2) 60 cm

(3) 21.6 cm (4) 64 cm

1.5 V 18.@).60. Q& meoor_QSM[H &6Vld, e(h LiletTeor(p &G nmeotluleor &mmley, &1L Herrs &) eor
36 Q&F.15 Lifleb, &lneT LeTaflenwls SmHBMS. @QbS WFHV HusHener, 2.5 V. 1.g).ail.
Q&MeooTL. LDMGQMTH HVEHMBEH G &MeooT(H MMM MIDGHTED, HT &FLO6oT L|eiTerf],
SOLNWIN6T 6B HeTEH 6L MO G LIMILD?

(1) 62 Q&F.16. (2) 60 Q&F.L18.
(3) 21.6 Q&.16. (4) 64 Q&.10.
Answer (2)

31. A spring is stretched by 5 cm by a force 10 N. The time period of the oscillations when a mass
of 2 kg is suspended by it is
(1) 0.628 s (2) 0.0628 s
(3)6.28s (4) 3.14 s
@@ 10 Bl allemgulermed @ SH@meTaled 5 Q&F.18. BLAWMLHME. AHO MBS 2 H.6H.
BlenmQumearm QsmRGSLLIU@L CUTSE, ST SeM6VeSHEHEETET  &HMev GBI

GTEOTLIS!:

(1) 0.628 &l (2) 0.0628 &l
(3) 6.28 &N (4) 3.14 &
Answer (1)

32. For a plane electromagnetic wave propagating in x-direction, which one of the following
combination gives the correct possible directions for electric field (E) and magnetic field (B)

respectively?
(1)_j+k7_j+k (2)f+k7j+k
) —f+k —j-k Q) j+k -k
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X —FHemsufley LD @@ H6T LIOTHMHS emM6evs G, LleTal(hld QMG LIL&e ey, WledrLjevld
(E) mmmilb srhslilgeold (B) ep®uwemel wenmGw Fiflumg @) UIeV&dnlqul (LD6o) M U meor
B 60V F & GITTEOTEM 6L 6T6DI6U?

(1)_f+k,_j+k (2)f+k7j+k
(3)_j+k’_f_k (4)f+k7_f_k
Answer (3)

33. A cup coffee cools from 90°C to 80°C in t minutes, when the room temperature is 20°C. The
time taken by a similar cup of coffee to cool from 80°C to 60°C at a room temperature same

at 20°C is
5 13
(1) St (2) ot
13 10
(3) 2t (4) St
Answer (3)

emm Gellilmplemev, 20°C eTedTmentoujld GUIMG, @ CamLiemLs &ML, 90°C uledmbal
80°C 5@ t PIILEH L GeflTauenLHmg. Aemm QeuliLbleney, 3185 20°C eredrmemLo b
GUMEl, @&5505MH Cammiamus &MUl 80°C Welmba 60°C &@& &erfliTeuenLeugm & meor
556V 2|66 6T60T LIS

5 13
(1 E t (2) E t

13 10
(3) = t (1) 5 t
Answer (1)

34. Anelectromagneticwave of wavelength ‘A’ is incident on a photosensitive surface of negligible

work function. If ‘m’ mass is of photoelectron emitted from the surface has de-Broglie
wavelength Ad, then

1= ()5 = ()2
@ 0= (29) 1= ()

LIM& & 600( 165 558585 Calemevd FmyLilenerll QUMMIETOTQ ST sperflujeoorie) LFLILNer g
N siemevBerid Q&MeTLQSTH WetTsHMHS Hemev llWw&Rmg. LFLNed®mnba 2 i@ Wb
e6rfl 6TeL& 19O MedT, ‘M’ BlemmuileL Ad eTemIld 1e-LITTE 65 3jemev BemgsHenerll QUMM &S m S

6T60fl6V,

= ()5 ()2
(3) 2 = (22) = @)= (Z5) %
Answer (4)
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36.

37.

Water falls from a height of 60 m at the rate of 15 kg/s to operate a turbine. The losses due to
frictional force are 10% of the input energy. How much power is generated by the turbine?
(g =10m/s2)

(1) 7.0kW (2) 10.2 kW

(3) 8.1kwW (4) 12.3 kW

R(h FLPVFESH TS M6 (LTMLIET) Q&FWesss, Bymeral 15 H1&)/all eerm eigsH 60, 60 LO.
2 WIsSHOmbs BT alwWwHms. 2 pgmile ellemsullermey gmuUGD  @)LOLILIS6TTE 60T,
2 6Tefl () MMES6T 10% WG ABSH FLON FEHHTHSME (LTLIGT) 2 (HeUmd & LIL (WD
Hmersl 26mey Wsl? (g = 10 W/ail2)

(1) 7.0 kW (2) 10.2 kW
(3) 8.1 kW (4) 12.3 kW
Answer (3)

SECTION - B

Twenty seven drops of same size are charged at 200 V each. They combine to form a bigger
drop. Calculate the potential of the bigger drop.

(1) 1980V (2) 660V

(3) 1320 V (4) 1520V

FLD 2_([HeeTe] QLMMIGTET @USCHLW Sl6flEHeT ealteumearmiin 220 V M@ Wlerenml L Ll
LGS eTmerr. Sjemal @emenrhg MUl gieflunmgs 2 mam@mal. Quiflu sieflullears
L) 68T 60T (L0 & B HH) 66078 &> 600T 5T ().

(1) 1980V (2) 660V
(3)1320V (4) 1520 V
Answer (1)

A point object is placed at a distance of 60 cm from a convex lens of focal length 30 cm.If a
plane mirror were put perpendicular to the principal axis of the lens and at a distance of 40
cm from it, the final image would be formed at a distance of

(1) 20 cm from the plane mirror, it would be a virtual image

(2) 20 cm from the lens, it would be a real image

(3) 30 cm from the lens, it would be a real image

(4) 30 cm from the plane mirror, it would be a virtual image
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38.

39.

B HEER. “CHEEES SUEESS S

<— 60 cm —Y<«— 40 cm—>

(1) ser Uil BHa 20 Q&F.1S5. STTSH6V S @@ LMW LINDLILDTES {60 L0U]LD.
(2) aflevemevuNed BB 20 QF.LS. STTSH 6V SIS @@ QU LINDLILDTE jemLou]LD.
(3) aflevemevuNed BB 30 QF.LS. STTSH 6L iS5 @@ QU LINDLILDTES jemLou]LD.

(4) seaT 2WIUINBHS 30 QF.LS. STTSH 6V IS @@ LMW LINDLILDTES {60)L0U]LD.
Answer (1)

A particle of mass ‘m’ is projected with a velocity v = kVe (k < 1) from the surface of the earth.
(Ve = escape velocity)
The maximum height above the surface reached by the particle is

(5
@ R(E) @k

Lel GCumurlilledmrs v = kVe (K < 1) aatm HeasCaussCsmh  ‘m mlemm
Q&METLQSTIH Si&6T erWLILGEmE. (Ve = U@ Hen g Caussin)
GuMUTLINING GG, SI56T Q&FTM GF@HLD QLI(HLO 2 UIFLD 6TeTLISI:

RK? Kk \2
) 1-k? (2) R(E)
k \? R%k
3 R(=) (4) =
Answer (1)

In the product

F=q@xB)

= q¥ X (Bi + Bj + Bok)

Forq =1and ¥ = 2i + 4f + 6k and F = 4i — 20j + 12k

What will be the complete expression for B?

(1) 61 + 6] — 8k (2) —8i— 8] — 6k
(3) -61—6j — 8k (4) 8i+ 8 — 6k
F=q@xB)

= qv X (Bi + Bj + Bok)
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41.

6T60TM QLI(H & & LIGuenTlen, g = 1 6Tedrmild ¥ = 2f + 4f + 6k bmmild F=4i- 20j + 12k 6657, B
6TEOTLIG 60T (LO(LD6EDLOWITEOT GBS MemIed UIMEHI?

(1) 6i + 6f — 8k (2) -8i— 8j — 6k
(3) -61—6j — 8k (4) 8i+ 8j — 6k
Answer (3)

Two conducting circular loops of radii R: and R- are placed in the same plane with their
centres coinciding. If R: > > R2, the mutual inductance M between them will be directly
proportional to

R3 R R R?
(1) i (2) R—; (3) R—j (4) é
R: ommiih R2 6Ten)ID Q4 JHIG6T Q& MeooT @) (H &HLSSID QL 6llq6 8560076001185 61T, &IEIG6TS)
MWMBIGET CMAUTHHSIDLLG FIOSTHH emnnds ULl (eTerer. Ri1 >> Ra erevflev,
amnn@enLGuwmer uUfllommm  Wledr  gmeoorL6v  eTevor M, GCBT alH5E5H 5 60
QUITEBBHHWIHLILIS 6TedTLISI:

(1) ﬁ— (2) ﬁ— (3) i— (4) ﬁ—

Answer (1)

For the given circuit, the input digital signals are applied at the terminals A, B and C. What
would be the output at the terminal y’?

Q&ETH&&LILL (6T Weramming, A, B ommith C a&w LoleTneneorderfley eTevoreolevss &
2 arafl(h enFenad:&Her efldasliLuGHarmer. Y  Werwenerulled Sjemwwll QUMID
Qeuerfluf®m wimg?

Anna Nagar, Mogappair, Madurai & Trichy 17 9884421666 | 9884432666 | 7845227484



é ﬁ% VETRI NEET GATEWAY

— NEET PREVIOUS YEAR QUESTION - 2021 .
b 103 ty t, ls ts
¥

W7 | || L o

5V
@ _| | [y
3) 5V

5V
@ | L v

Answer (3)

42. From a circular ring of mass ‘M’ and radius ‘R’ an arc corresponding to a 90° sector is
removed. The moment of inertia of the remaining part of the ring about an axis passing
through the centre of the ring and perpendicular to the plane of the ring is ‘K’ times ‘MR?’.
Then the value of ‘K’ is

(1)
(2)
(3)
(4)

‘M Blepwld ‘R oIl Q&SMOlLQSTH el allgel euemeTwdSHer  90°
al LUUGHWlearas el Lalled eatm BH&ELULGHMS. aemeTwWSH6eT ennwid aublGu
QLD FF Tl QUTHSSID, UMETWSHET SHMSHMEG CFMHIGESHTEH LD,
TP WIHEH G D auemeTwll UGS Uuleoral mlemevlng HLILGS Hmetr, MR2 ufleoral ‘K oL_mIG
etevflev, ‘K ufleorg oGLIL| eTedTLIS):

(1
(2
3

4)
Answer (2)

AR OIN AW ©Ir

AR OIN AW @I

43. Three resistors having resistances ri1, r2 and r3 are connected as shown in the given circuit.

. 3 . . . e e
The ratio == of currents in terms of resistances used in the circuit is
L

QaMR&SLILL(eTar  Weragmmlev ST LU (heTemeumm r, r: LOMID 13
L 6T HEM LG 6meTL] QLM MIGTET eLNeT LOl6TSH6m 56T @) 6m600r8 85 L1LIL_(hleierment. Ll6oTam Ml 6L
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LWSTLUGSSLILGL LTSl EmETL  QUTHES, OTCaIMLLRGas, NHshn —

GTEOTLISI:

2

"

(1) 7‘1 +T'3 (2) T'2+7"3
2 L&t
Answer (3)

44. A car starts from rest and accelerates at5 m/s2. Att = 4 s, a ball is dropped out of a window
by a person sitting in the car. What is the velocity and acceleration of the ball at t = 6 s?
(1) 20 v/2 m/s, 10 m/s? (2) 20 m/s, 5 m/s?
(3) 20m/s, 0 (4) 20v/2 m/s, 0
@0 &MY @ule Blaeuledmbas HeumS), 5 W/eN? aarm 6fE5H 60 WHEEWLHMSI.
&Miflev SIDTHSI6TET 6(H BLIT, 26oTeoTev UG, t = 4 6. eTedTm CHIGH ) R LIHS 6o 6ot
EC GUTOHHMTY. t= 6 all. eTerild CHISTHL LILIHH6TEH HemasGausmsld LoMMID WNHE & D
A&HWeuMMIET (emmuwmeor WHILILGESET wmenel? (g = 10 L5/62 6TetT8 6 & MeiTa).

(1) 20 V2 /69, 10 LS/eN2 (2) 20 US/eN, 5 LS/e2
(3) 20 W/, &l (1) 20V2 /e, &
Answer (1)

45. A stepdown transformer connected to an ac mains supply of 220 V is made to operate at
11V, 44 W lamp. Ignoring power losses in the transformer, what is the current in the primary

circuit?
W4A (2) 0.2 A
(304 A (4) 2A

220 V a.c. Wogerenin LlerereflliLimGerm(h @) enetors: s LILIL (GleTer @ @ Mm@ Wlestiom m m
11V, 44 W QamesorL A6 eflens&emner Q& WweLIhSSRmS!. Wer inmmmiluiley 2_aTer &\medr
@PLUILEHM6T FIGSHW LN6T 25607 (S eTenln eramniley 2 6ter LOleTGeTmML LD WITSI?

W4A (2) 0.2 A
(3)o.4 A (4) 2A
Answer (2)
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46.

47.

48.

A ball of mass 0.15 kg is dropped from a height 10 m, strikes the ground and rebounds to the
same height. The magnitude of impulse imparted to the ball is (g = 10 m/s2) nearly

(1) 1.4 kgm/s (2) okgm/s

(3) 4.2kg m/s (4) 21kgm/s

10 SLLT 2 wrsSHedmbgs S6p CUTLLULBILD 0.15 H.&). Blenm Q&M LQSTMH LbI,
SOImWS QSTL(R Fo 2 WISHMESG Wersd HGULURMS. SLILUBSISEG 6flésliu@mwn
& 600TS M & HH M & Me0T 6T600T LOF)LIL| 6TedTLIZ gMSHT (g = 10 LS/a2):

(1) 1.4 8.9 u5/e (2) 0 .9 /e
(3) 4.2 B.6. 15/60 (4) 2.1 9.8. 15/6
Answer (3)

A series LCR circuit containing 5.0 H inductor, 80 pF capacitor and 40 Q resistor is connected
to 230 V variable frequency ac source. The angular frequencies of the source at which power
transferred to the circuit is half the power at the resonant angular frequency are likely to be
(1) 42 rad/s and 58 rad/s (2) 25 rad/s and 75 rad/s

(3) 50 rad/s and 25 rad/s (4) 46 rad/s and 54 rad/s

GaumiL(HLD BTG 6UtIT Q&MetorL. 230 GaumeLL. ac epesCHT(H), 5.0 H Wletranesory, 80 uF
O6TCHHEH LoMMID 40 Q WleTHeL Q& TS MH QHTLT LCR Weramm @) emeoord: &Ll
UL G6Tengl. 55506 GCHMer HJ6 6UeuTertle Semowd Hmeofle LTEH LHLILTS
Fmermeorg WeramHIME&G WLIHMLD  QFwWwwl  UuGLCUTE  epeusHers G mevor
B TG 6UEDOTS: 61T 6T60TLI6DT:

(1) 42 rad/s Mo 58 rad/s (2) 25 rad/s wmmILbd 75 rad/s
(3) 50 rad/s wmmib 25 rad/s (4) 46 rad/s wmmiid 54 rad/s
Answer (4)

A uniform rod of length 200 cm and mass 500 g is balanced on a wedge placed at 40 cm
mark. A mass of 2 kg is suspended from the rod at 20 cm and another unknown mass ‘m’ is
suspended from the rod at 160 cm mark as shown in the figure. Find the value of ‘m’ such
that the rod is in equilibrium. (g = 10 m/s2?)

0 20cm 40cm 160 cm

A
2 kg |m|

(0 ke (2) ke

(3) 5 ke (4) < kg
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200 Q&.10. Berwpld 500 & BleoymUd QHTOTLQSTMH Frmeor Heoor(h), HT 40 Q& .L0.
GSMIUT 1960 emausSLILUL (6T Safensrulley  Foplemevulled MWLHBEMSI. LLSEH 60
ST LU GeTerelmml, 20 Q&F.10. Qsmameualley 2 &H.6). Blenm eeTmild, ‘'m' Blemm @ & mevorL
LMAMITm Bleomm, 160 Q&F.1S. GMuTlgeuid Heoorigedmbgs Q&MTmGeLLILL () 6TeTeor.
HEOOTL 60Tl FLoplemeuuilel Semnaigm&mer 'm’ & WwHLILNeners sHevorlmlds. (g = 10
L5/6M12)
0 20 @&.8. 40 QF.L5. 160 G &.L4.
JAN
88 | m |

Laa “ 5.8
(1)12 8. (2)2 8.

1 1
(3) 5@.@. (4) = 5.6.
Answer (1)

49. A particle moving in a circle of radius R with a uniform speed takes a time T to complete one

revolution. If this particle were projected with the same speed atan angle ‘0’ to the horizontal,
the maximum height attained by it equals 4R. The angle of projection, 6, is then given by:

(o= sin'l(zjzi)% (2) 8 = cos (“ZZL;)%
1 1
(3) 6 =cost (;271;)2 (4) 6 =sin (jTi)z

R o4gib QameoTL el LEHev Frmer CaussCHTH BHIHLD @@ SHISH6T, @@ SLpmE ullen eor
w1955 T GBI T(HHSHISH Q&TTHMSI.

@55E SIsG6T, HOLLLLESCHTH 0 b GoHmeausde  Fwmer GCalssHCSH T ()
TMIWILILIG 63T, 918 SiemL D QU(HLD 2 WJD 4R &@&&F FODMGLWD. N&H60T 6Tmles G& mevor LD

‘0" aUPmIGLILIGGUS! 6T6OTLISI:
1

(1) 6= s,in-l(if’;;)E (2) 6 = cos™ (‘%)

(4) 6 = sin? (%)

N

N
N[~

R
(3) 6 =cos (g?)
Answer (1)
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50. A uniform conducting wire of length 12a and resistance ‘R’ is wound up as a current carrying

51.

52.

coil in the shape of,

(i) an equilateral triangle of side ‘a’.

(i) a square of side ‘a’.

The magnetic dipole moments of the coil in each case respectively are

(1) 4 lazand 3 la2 (2) V3 la2and 3 la2

(3) 3 la2and la2 (4) 3la2and 4 la2

12a Herd MM ‘R’ Ol60THeOL Q&ML Q&MTIH Frnsss &GS Wlers L,

(1) ‘@ emild L&D Q& mevoTL @ & LGS Mevor (LN8> B85 MeooT LD.

(i) ‘a” eeld LSS Q&ML FSIT eulgaleumer LOeTCTTLLID STHISHU & (H6TSH6TTS
FLOmMLUILL (H6TeTsl.

@euall® CrIeysefley SHaTHaTS SHMHS @ HOMLILGS HM6OTSH6T  6T60TL 60T

(Wen MG

(1) 4 la2 bMHauib 3 la? (2) V3 la2 nmaytb 3 la2
(3) 3 la® poiid la> (4) 3 la* O ID 4 la>
Answer (2)
CHEMISTRY
Right option for the number of tetrahedral and octahedral voids in hexagonal primitive unit
cell are :
(1) 12, 6 (2) 8,4
(3) 6,12 (4) 2,1

(LHOLBIMY AMING allgaID Q&ML VG Fal lQ60 2 6Tem BTOTINS LMMILD
6TeooT(LNE QeumML_RI& 6rfledT eTevoTe00l & 68 (LNem MG

(1) 12,6 (2) 8,4
(3) 6,12 (4) 2,1
Answer (1)

Zr (Z = 40) and Hf (Z = 72) have similar atomic and ionic radii beause of:

(1) Having similar chemical properties (2) Belonging to same group

(3) Diagonal relationship (4) Lanthanoid contraction

Zr (Z = 40) wpoid Hf (Z = 72) @ueao®ld 9565 g MDD W6l SThS s
Q & mevot(h\6TereoT, 67 Gl 6oT60f16L:

(1) @565 CauHLl LI6ooTL|&H 66Tl GlLIM MI6TETS 6L

(2) RCT QBTGSeI FMTHSD6

(3) epemevedl L LisoorL]

(4) vTBBeTTUI(H &D18 8D

Answer (4)

Anna Nagar, Mogappair, Madurai & Trichy 22 9884421666 | 9884432666 | 7845227484



€ET
w )

\'&

VETp)
4

3

Avm3g

Z7

VETRI NEET GATEWAY
NEET PREVIOUS YEAR QUESTION - 2021

e

o
v

v

53. Choose the correct option for graphical representation of Boyle’s law, which shows a graph

of pressure vs. volume of a gas at different temperatures:

(6))

(3)

Pressure (P)

—

(bar)

600 K
400K
200

—

Pressure (P)
(bar)

Volume (V) —>
(dm’)

(200 K, 400 K, 600 K)

Volume (V) —>
(dm’)

(2)

(4)

—

Pressure (P)
(bar)

200 k
400 K
600 K

——

Pressure (P)
(bar)

Volume (V) —>
(dm’)

{_
N
/o€
e
5>

Volume (V) —>
(dm”)

BB eUemTLLBIG6M6) 6Thg eeTm WMMILILL Qeulill Blemevdserfled @ eurmu]eallev
gHUBLD (WSS vs. 6T ememel LMuiled afl@ILiLg Fflwune GIILNGSmaE?

(1)

(3)

Answer (1)

SWSSD (P)

—>

(bar)

600 K
4
200

HWS550 p)

HETEMEY (V) ——>
(dm’)

—

(200 K, 400 K, 600 K)

(bar)

FET2YETEY (V) —>
(dm’)

(2

(4)

s

WSS (P)
(bar)

ey

SWPS5D (P)
(bar)

200’(
400 K
600 K

ST 6TEY (V) —>

(dm”)

SHEDTSEITEY () >

(dm')

54. The right option for the statement “Tyndall effect is exhibited by”, is:

(1) Urea solution

(3) Glucose solution

(2) NaCl solution

(4) Starch solution
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GG 60T L eUMMIGT 6THG e6tTml “lq6v0TL_Mev allemememel” Fflns: s &ML HI&BMSI?
(1) wHlwr Hangsev (2) NaCl semygev
(3) ®EB5CHT &6 JF6U (4) eVLITTE Henpsev
Answer (4)

55. Which one among the following is the correct option for right relationship between Cp and Cv
for one mole of ideal gas?
(1) Cv=RGCp (2)Cp+Cv=R
(3)Cp-Cv=R (4) Cp = RCv
@@ Cme HevedlwievL] eumuwjeimasmeor Cp nmmild Cv @emnLullevmerr Fiflwimer QSMLITL] 6rgl
eTeTLIeN G BLpgenorLeummlel @GBS CHIHE S0
(1) Cv=RCp (2)Cp+Cv=R
(3 Cp-Cv=R (4) Cp = RCv
Answer (3)

56. The structures of beryllium chloride in solid state and vapour phase, are:
(1) Chain in both
(2) Chain and dimer, respectively
(3) Linear in both
(4) Dimer and Linear, respectively
FleooTLn Blemev M MILD 6N Blemevulley 2 6Ter QUIleS WD &GeTmemIIq 6T | 6MLDLIL|S6T:
(1) @ueor(Hld FmIHEN emInLIL] 685 T6ooT L 6m6l
(2) WweamMGW FmIKH WMHMILD @) IHLILY S TETem6
(3) @uevor(Hld CHICHML(H 6eMLOLIL| G185 T6voTL Sl
(4) YeoPCW @rUY LHDID CBICHTL(H emLOLIL
Answer (2)

57. Tritium, a radioactive isotope of hydrogen, emits which of the following particles?

(1) Neutron (n) (2) Beta (B-)

(3) Alpha (o) (4) Gamma (y)

GCp OasTh&ESUULLamMeT &SHFAWESS HaTeO Q&ML QDL 78601 60T
oGrFmeLmiIUmer LifllQwid 2 1GwWlh Si&6T 61&i?

(1) Bl grer (n)

(2) fm (B)

(3) speou (o)

(4) smwom ()

Answer (2)
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58.

59.

60.

The major product formed in dehydrohalogenation reaction of 2-Bromo pentane is Pent-2-
ene. This product formation is based on?

(1) Huckel’s Rule (2) Saytzeff’s Rule

(3) Hund’s Rule (4) Hofmann Rule

2-L|GImGLMQLIGTCLem 6T, emaml CrmGameuner BEHSHID QFuwiwnd eflemerulley QlLIGHTL -2-
reT GG Wmeor aNemeTQUITH6TTES R GHMS. @ euellemneTQUTHeT GGl 67H&
oS uler g LILenLuileh 2 HeuTHMSI?

(1) ams &6 NG (2) QeWILasFL NG
(3) e S (4) anmier 1)
Answer (2)

BFs is planar and electron deficient compound. Hybridization and number of electrons
around the central atom, respectively are:

(1) spzand 8 (2) sp3 and 4

(3) sp3and 6 (4) sp? and 6

BFs; @ Fl0&H6m Semlnlil] L0MMID SH6eMM 6TeV&HLIMeT G &MeooTL. G&F JIOD. @) &H60T 60O U
16T @) 6T&H&eVLIL] MMID HFHemeoT &M MILIGTET 6T6V8 L_[ITeT8s 6rfl60T  6T6voTE00l 1856085,

wWwenmGu:

(1) sp? O oD 8 (2) sp3 wHoID 4
(3) sp3 LHmILD 6 (4) sp? LbOMILD 6
Answer (4)

What is the IUPAC name of the organic compound formed in the following chemical

reaction?
Acetone — U CHEMoBr dyEther 504y et
(il)H,0,H
(1) 2-methylbutan-2-ol (2) 2-methylpropan-2-ol
(3) pentan-2-o0l (4) pentan-3-ol

FELpseoor ellemerTuiel 2 amGd &ifling GFIwsHer IUPAC QUWIT 6TeoTeor?

(i) C,H:MgBr, 2807 F&7

G CLmedr
™ (ii) H,0, H'

> 691 60)61T QLI (T 61T

(1) 2-QWEH 6L LNW,L L 6T-2-9460
(2) 2-QW5EH 6L LFLILI6OT-2-3160
(3) QUEITL 60T-2- 3,60

(4) QUEBTL 60T-3-21,60

Answer (1)

Anna Nagar, Mogappair, Madurai & Trichy 25 9884421666 | 9884432666 | 7845227484



é % VETRI NEET GATEWAY

— NEET PREVIOUS YEAR QUESTION - 2021 .
61. The RBC efficiency is deficiency disease of:
(1) Vitamin B- (2) Vitamin B2
(3) Vitamin Be (4) Vitamin B:
RBC &emmum(h BLp& 60Tl 6T e6tTmleT Gemmuml (B GBmul?
(1) emeul_LSledr Be (2) emeul_LLAledT Bio
(3) emeuL_LLAlesT Bo (4) emeul_LAeoT B:
Answer (2)

62.

63.

The molar conductance of NaCl, HCl and CH3COONa at infinite dilution are 126.45, 426.16
and 91.0 S cm2 mol? respectively. The molar conductance of CHsCOOH at infinite dilution
is. Choose the right option for your answer.

(1) 540.48 S cm2 mol! (2) 201.28 S cm2 mol?

(3) 390.71 S ecm2 mol (4) 698.28 S cm?2 mol?

gemallev BIs &6 NaCl, HCl inmmith CH3COONa oS uweumniledr Gmeury &L &5 m 60T
WemmGW 126.45, 426.16 nHMILD 91.0 S cm?2 mol! ereofley, emallevTm BHIGHH Blemev UL
CH3COOH-er  Guomeuny &L GSIHmeotledr Fiflwmer wHllemu Slpseoorl QS ifleyss ey
QBB CHIHO S0 &S a)LWD.

(1) 540.48 S cm?2 mol? (2) 201.28 S cm2 mol!
(3) 390.71 S cm2 mol™ (4) 698.28 S cm?2 mol?
Answer (3)

The incorrect statement among the following is :

(1) Actinoids are highly reactive metals, especially when finely divided.

(2) Actinoid contraction is greater for element to element than lanthanoid contraction

(3) Most of the trivalent Lanthanoid ions are colorless in the solid state

(4) Lanthanoids are good conductors of heat and electricity.

B G 6E00TL. FnMMIG 66D HEUMTEOT T MM 6TSI?

(1) meor® sremmesLUlL Bleanewulled s IqermUii(G&HeT Wsah allemersHmer &
2 G6VITE MEI& 6.

(2) wMhBSeTTUI(R GMIE&ESHESSILET @UUNOWL CUTE Safllm&seEnsE @6l ulleumer
QL& QETTU(R GMISGHEHID EED.

(3) Bevorin Blemevuiley, LT E@)ENETTHMETT Q& MevoTL. G LIHLOLITEVITET  6VITHE60T IT U ()
3| Wevfl& 6T Bmwmmene.

(4) evmHBSTTUIRG&GET FMBHS Qeulill LMD WOl6T &L &5 & 6.

Answer (3)
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64. StatementI: Acid strength increases in the order given as HF << HCI << HBr << HL

65.

66.

Staement II:  As the size of the elements F, Cl, Br, I Increases down the group, the bond
strength of HF, HCl, HBr and HI decreases and sothe acid strength increases.

In the light of the above statements, choose the correct answer from the options given below:

(1) Statement I is incorrect but Statement II is true

(2) Both Statement I and Statement II are true

(3) Both Statement I and Statement II are false

(4) Statement I correct but Statement II is false

Fammi I: GG Q&ETHESIULL alfloFullsy 9levd SaTeann 2 WFHMmSI.
HF << HCI << HBr << HIL
Famm I1: F, Cl, Br, I 4B uweumniledr 2 (Heueme] 5601 Q&ST&HHuUley Gedmbg H6Lp

QEeusd GUMEl 2 WG M. eteorGeu HF << HCl << HBr o mitb HI
ARBWeammledr NemeoorliL] euedlenn GOMBMS. VML UM 6or
IUevs HeTemn 2 WHHMSI.

GUM&EBEITL.  Fammiseflar gl ulley Bpseol Qsiflaseafley @mbg &0

Fflumerenss CSIHE & H\& 5 aLD.

(1) smmm I saum germel gamm 11 &ifl.

(2) smmm I HmMILD samm IT @reor(Id &Fifl.

(3) samm [ DHOILD G IT Gresor(GId Heumi.

(4) s I il epermed sammi 1T Heum.

Answer (2)

The correct structure of 2, 6-Dimethyl-dec-4-ene is
2, 6-60)_QLDSH6V-Q\ L_8>-4-FF6dT -60T &FIflulmer jemLoLiL]:

(3 (4) /d:
Z
Answer (2)

The correct sequence of bond enthalpy of ‘C — X’ bond is:
(1) CH3 -Cl> CH3— F> CH3 — Br> CH3— 1
(2) CH3 - F<CH3-Cl<CH3s —Br<CHs -1
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67.

68.

69.

(3 CH3— F>CH3s—-Cl>CH3z - Br>CHs - I

(4) CH3— F<CH3s-Cl>CH3s - Br>CHs -1

EC OaTh&s LUl BeTemreumiley, ‘C-X’ LNemevorILledT LNemevoriiL] Qeuliib () eTetrsmev Ll
-Wlesr sflwmenr Q&ML aulflens:

(1) CH3-Cl>CH3-F>CHs—Br>CHs-1

(2) CH3 - F<CH3-Cl<CH3; —Br<CHs -1

(3 CHs—F>CHs-Cl>CHs —Br>CHs -1

(4) CH3—F<CH3—C1>CH3—BI’>CH3—I

Answer (3)

A particular station of All India Radio, New Delhi broadcasts on a frequency of 1,368 kHz
(kilohertz). The wavelength of the electromagnetic radiation emitted by the transmitter is:
[speed of light ¢ = 3.0 x 108 ms]

(1) 21.92 cm (2) 219.3 m

(3) 219.2 m (4) 2192 m

2| 6M TS B HH) WL QM@ eormed &l Gevedlulledr @ GMIILICL eedlLITLIL
BlemewWSH BB BlepFHR &6 1,368 kHz (B1Gm QamiJL6) 6T6Tm 2576 6letoreoot |6V
@UTUL QFEUWIUGBDmE. edeafley, ABS eOurliuiley @mba  QeusflliLi(® b
6T THS & & iflar emevbearid [seflulledr Gaussid, ¢ = 3.0 X 108 ms-]

(1) 21.92 Q&.16. (2) 219.3 1.
(3) 219.2 8. (4) 2192 1S.
Answer (2)

The pKb of dimethylamine and pKa of acetic acid are 3.27 and 4.77 respectively at T (K). The
correct option for the pH of dimethylammonium acetate solution is:

(1) 6.25 (2) 8.50

(3) 5.50 (4) 7.75

T (K) — afleb emLQwg HHev 9jfesfleor pKb Lommid AT 1985 SblevsHerr pKa LHLIL|S 6T
WemmGCW 3.27 LMHMID 4.77 eTedfley, MLQWEH 0 Cmeflwn HALCLL &HenFFed et
pH-60r &iflwmenr LO&LIL:

(1) 6.25 (2) 8.50
(3) 5.50 (4) 7.75
Answer (4)

The following solutions were prepared by dissolving 10 g of glucose (C6Hi206) in 250 ml of
water (P1), 10 g of urea (CH4N:0) in 250 ml of water (P2) and 10 g of sucrose (Ci2H220mn) in
250 ml of water (Ps). The right option for the decreasing order of osmotic pressure of these

solutions is:
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71.

(1)) P3 > Pi>P-

(2) P2 > P1 > P3

(3) Pr>P2>P3

(4)P2>P3>Ps

GO QHTHSELILL(H6TET epetml Heanpgeuder 250 ml Bifley 10g &eH&CaHmev (CoHi206)
(P1), 250 ml L%I:ﬂGU 10g %D‘]U_IIT (CH4N20) (Pz) LDmQ.ILD 250 l’l’ll!_'%lﬂGU 10g B?B.Ea@I]'I'I'GT'U (C12H22011)
(P3) swrflsslul@ererer. @ &&HamIFaseflar  Feala,BUT  A(WSHHHH M & Meor
Frflwumer @B alfleng 618l 6laTUmM S CHTH6 &H(H\& & 6LD.

(1) P3 > P1> P2

(2) P2>P:>P3

(3) Pr>P2>P3

(4)P2>P3>Ps

Answer (2)

The correct option for the number of body centred unit cells in all 14 types of Bravais lattice
unit cells

(13 (2) 7

(3)5 (4) 2

MeTSES 14 euemnd Llgmallev LGS 0@ Fabhiseflaln 2 6T6m QUITH6T enoll 36V&
Fo.(0) 561607 6T600T6001 15 6008 6T&I 6TOTLIENS S CHTHR & H)?

(13 (2) 7
(3)5 (4) 2
Answer (1)

The maximum temperature that can be achieved in blast furnace is:
(1) Upto 5000 K

(2) Upto 1200 K

(3) Upto 2200 K

(4) Upto 1900 K

R0 2 (HE5GS 26meVUN6L 2 6UITLMGLD 2 WIHSLLEF QeuliLBlemnev:
(1) 5000 K auemiy

(2) 1200 K auemiy

(3) 2200 K auemp

(4) 1900 K aueniy

Answer (3)
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73-

For a reaction A — B, enthalpy of reaction is — 4.2 kJ mol* and enthalpy of activation is
9.6 kJ mol. The correct potential energy profile for the reaction is shown in option.

A — B et allemerulledr ellement@eauliLild — 4.2 kJ mol?! ommild 2iFeT HeTiIey 6 &MmeT
6TatTH MV (9)) Qeuliuib 9.6 kJ mol! erevfley, ELp&H 6oL BleMELWITMHMED QUEMTLIL 615 6160
6TH& peTml @ elallemeremnl Fiflwms ellemsd:G&GHmS?

(1) ) (2)

>

Blemeuw mmHmMey
o
m —
>
o
Hlemeuw mmHmev
0
m —
m>

>

Reaction Progress
eflemenr ml& 105 6TENLD

>

Reaction Progress
el em 60T 560G EOTEM LD

(3) ” N (4) 2 N

g g

8 'a

E T /\ E A
] :

g PE

A PE
s 5 % A B
Reaction Progress Reaction Progre;s

eflenenr Bl&ipgerenio eflement 1805 60T6mLO

Answer (3)

The compound which shows metamerism is:
(1) C4H100

(2) CsHiz

(3) C3HsO

(4) C3HeO

FLp&Hevor CFILOMIGETIL @ emeror LDMMMIWGMS &ML (hLD CF IO 6TSI1?
(1) C4H100

(2) CsHiz

(3) C3HsO

(4) C3HeO

Answer (1)
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75.

76.

L 2

The major product of the following chemical reaction is:
Gp&Hevor CauFlaflemeoruiley 2 (HaumGLd OGS Wimet 66066 LITIH6IT:

CH
*CHe CHCH, + HBr _CH1C010:
CH,
CH3\
(1) CH /CB[‘ —CH,~CH,
CH,
CH-CH, — CH,—Br
@ cn,’ 2
CH,,
) CH ,CH—CH, — CH,— O—-COC;H;
3
CH3\
CH—-CH-CH
(4) CH / I a
: Br
Answer (2)

Which of the following reactions is the metal displacement reaction? Choose the right option.
(1) 2Pb(NO3)2 — 2PbO + 4NO: + 02T

A
(2) 2KCIO3 - 2KCI + 302

(3) Cr203 + 2Al i Al>O3 + 2Cr

(4) Fe + 2HCl — FeClz + H2T

ELpseoorL ellemerderfley 678 2 Geuss G LLUIGQUWITEFS allemet eTaiTLIeNS CS5IHE S [H\& & 6 LD.
(1) 2Pb(NO3)2 — 2PbO + 4NO:= + 02T

A
(2) 2KCIO3 - 2KCI + 302

A
(3) Cr203 + 2Al -» A1203 + 2Cr
(4) Fe + 2HC] — FeClz + H2T
Answer (3)

Given below are two statements:

Statement I: Aspirin and Paracetamol belong to the class of narcotic analgesics.
Statement II: Morphine and Heroin are non-narcotic analgesics.

In the light of the above statements, choose the correct answer from the options given below:
(1) Statement I is incorrect but Statement II is true.
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78.

(2) Both Statement I and Statement II are true
(3) Both Statement I and Statement II are false
(4) Statement I is correct but Statement 11 is false
HCL @ revor(h FnMMIGH6T Q& THE S LILL (heTeTeor.

Famm I : apervlilifledt WMo UMFTHLLLOmL — GUMen S SHIHLD 6ued
ECAE TG
Famm I1 : LrIer wHmid Qampruier GuUmems HIME el BEHE&&eTmELD.

GumseL. Fammiseflar QliueLuiley Bpseorl Qsflayseafll @ubs  W&e|D
Fflumearensd CHIHESH & & aLD.

(1) Famm I Heum ermev Gammi II Fifl.

(2) samm I Mo sammi IT @ reor(b &ifl.

(3) oo I wPHoID sHmi 1T @reor@Wn Seum.

(4) sapo I &l guermed gapmi IT Heumi.

Answer (3)

Ethylene diaminetetraacetate (EDTA) ion is:

(1) Tridentate ligand with three “N” donor atoms

(2) Hexadentate ligand with four “O” and two “N” donor atoms

(3) Unidentate ligand

(4) Bidentate ligand with two “N” donor atoms

6153160607 emLfletr QLT HFCLL (EDTA) ojuweofl etedrig:

Fflumearenss CHIHE & H\E & aLD.

(1) ewpermy “N” cUPBITH VNSNS Q& TETL. eLNGTMI FHe Fa L1 LI60evorLIL| 8 60 6
o (HEUME G LD. FFeofl.

(2) BrerE “O” Mo @reorh “N” QULLBISH 0I5 8mM6ME G&METL. QM FH0 Fo&HLl
LN et 60T LIL| & 6006 2_(H UM GLD FF 6ot

(3) @ememm FH6eL F&L1 LlemetorLiemnll 2 (HeaUMa: @GLD FFeofl.

(4) @uevor() “N” QULLBISH VNG HM6TEH Q& MeoTL @) Tevor(h FHeL && L1 LI 60)6vorLIL| & 60) 61T
2 (HeUM&H@GLD FFeofl.

Answer (2)

Which one of the following methods can be used to obtain highly pure metal which is liquid
at room temperature ?

(1) Zone refining (2) Electrolysis

(3) Chromatography (4) Distillation

Gl (Wemmsefled 6Ths @6Tm Semm GQealliupleneullsd Hreu Mleneuulled 2 6iTerm
2 CuMe:Sms LW&a|D STulenouwlmer Blenevuiley Qum LweaTLGSHMmS?

(1) YevsSTUIEMLOWITE & 6V (2) WesTeoTTM LIG LILY
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(3) suevtrevorLILS Iflenas (e M (4) sumemeELEULY & 56D
Answer (4)
79. Identify the compound that will react with Hinsberg’s reagent to give a solid which dissolves

8o0.

81.

in alkali.
GELps T GFIOMIG 66 675 amleareveLTs allemenrs FeoofluLeT ellemerUl(h SHTISHH 6V
SHenTULD Hlevorn eNlemeTQUITIHEMETS HHHMSI?

CH, /CHZ\
® cuy SN CH,

2..
(2 cH” No,

@ e Ky CH
¥ cH SNH”

CH, _.
@ cH SNH,

Answer (4)

Among the following alkaline earth metal halides, one which is covalent and soluble in
organic solvents is:

(1) Beryllium chloride (2) Calcium chloride

(3) Strontium chloride (4) Magnesium chloride

GO QHTHS&HLLLGETET  &MJmeo 2 Gums  Cameme(h&Eefled  6he  seTm
FoUemenTlILS SeoTemln WMMID &l Senglumar&Hefled Gempuld &6oTen L0 66T o

Q & meooT(h\ 6T S:

(1) Quledwid &CermemnF(h (2) smLA WD &GCemmem T ()
(3) ev_pmeor®lwd & Cermemn () (4) Qs efA WD &Cermemng()
Answer (1)

Dihedral angle of least stable conformer of ethane is:

(1) o° (2) 120°

(3) 180° (4) 60°

&8 GHMBHS BleneULILS SH6eoTenln G185 meoorL T &8560fledT H6m @) 60L& 68 meoor LG LIL:
(1) o° (2) 120°

(3) 180° (4) 60°

Answer (1)
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82.

83.

84.

An organic compound contains 78% (by wt.) carbon and remaining percentage of hydrogen.
The right option for the empirical formula of this compound is :

[Atomic wt. of C is 12, H is 1]

(1) CHy4 (2) CH

(3) CH: (4) CH3

@@ &Hflng CFILL 6T eemlufley 78% &MIemLmeTUD WHID 2 6Tem FH6NE 2 6madl 6L
MAML TRMETWD Q& Teor(heTendl eTenfley, b CFILESEH T WMMIMT aUTILT(H 6rgl
eTaTLIEN S BLpseooT Qi sIfleysserfley @ mba & evor(hLLg.

[oem etem. C =12, H = 1]

(1) CH4 (2) CH
(3) CH: (4) CH;
Answer (4)

Noble gases are named because of their inertness towards reactivity. Identify an incorrect

statement about them.

(1) Noble gases have large positive values of electron gain enthalpy

(2) Noble gases are sparingly soluble in water

(3) Noble gases have very high melting and boiling points

(4) Noble gases have weak dispersion forces

DHES UMW SEET earTUer aumnlear ellemerulled FOLULMTES HTemlng & ITI600TLIO TS

QUQUWT QUMGBETMeT. HCP QHTHGSELILLL Famm&efle) 6hs aTm WhHS

QUMW &S EHS G QLITIHHSTSH?

(1) bBs aMUESseT IAHs ChT  WLHLIN EHELITErT Q&M QellllSHen S
(eTeoT&HMeLLN emLl) G &5 Tevor (h)6ITerTeoT.

(2) Bs auTwss6T Bifley N&E GHmMBHSH H6TC6 & 60 IS 60T M 6.

(3) LBy eamusser Wses wflu 2 BGBleney  WLMHMID  Q&TH Bl W&
@ & T60oT(H 6ITEITEOT.

(4) LBS QUTUWESHET aedlamumm FEMe ellendsemers 6 & mevor(h 6ITeTeoT.

Answer (3)

Which one of the following polymers is prepared by addition polymerisation?

(1) Dacron (2) Teflon

(3) Nylon-66 (4) Novolac

ECp QaMH&ESUILLL UUISsefle) 6hs eertm GFFLIL LeUIQWTESH  Wenmuiley
sWléasl LGSMmSI?

(1) QL& & ymeor (2) QL Lievrmedr
(3) emmeuTeT-66 (4) GmmeaumeLITS
Answer (2)
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85. Match List — I with List — II.
List — I List — II
(a) PCls (i) Square pyramidal
(b) SFs (ii) Trigonal planar
(¢) BrFs (iii)) Octahedral
(d) BFs (iv) Trigonal bipyramidal
Choose the correct answer from the options given below:
(1) (a) — (iv), (b) — (iid), (¢) — (i), (d) - (D)
(2) () = (iv), (b) — (iii), (¢) — (i), (d) — (ii)
(3) (a) — (i), (b) — (iid), (c) — (iv), (d) — (i)
(4) (a) - (iii), (b) - (1), (c) — (iv), (d) — (iD)
QeMEH — 18 0sTeH - 11 2 6T QUTHSHSI5.
Qs — I Qzmes — 11
(a) PCl; () sgr Ygd®
(b) SFs (i) FLO&6T (18G5 mevor LD
(c) BrFs (iii) erevor(LNG
(d) BFs (iv) W& Gameoor @ @ LNTLS(®H
HCY Q&ETH&SLIUL(BeTer aumulliL&efled @mbal &Fiflwumareanssd CHIHE S H & & aLD.
(1) (a) = (iv), (b) — (iid), (c) — (iD), (d) - (i)
(2) (a) - (iv), (b) — (iid), (¢) - (i), (d) — (i)
(3) (a) — (i), (b) — (iii), (c) — (iv), (d) - (i)
(4) (a) - (iii), (b) - (1), (c) — (iv), (d) — (ii)
Answer (2)
SECTION - B
86. For irreversible expansion of an ideal gas under isothermal condition, the correct option is:
(1) AU # 0, AStotal = O (2) AU = 0, AStotal = O
(3) AU # 0, AStotal # O (4) AU = 0, AStotal # O
g eoor Q5 fleyserfley 6Thg eetTm GQlelliLl Blemev LOMMT BlLbSHemeTuNev 6(H HELESIUIGVL]
amwefler Werm elifleuns s Q& WeLNenME & meT Fiflimer G IalmELh?
(1) AU # 0, ASauwrgsn = O (2) AU = 0, ASowngsw = O
(3) AU # 0, ASawngsw # O (4) AU = 0, ASauwngsn * O
Answer (4)
87. Match List — I with List — II.

List— 1 List — IT
(a) [Fe(CN)s]3- (1) 5.92 BM
(b) [Fe(H20)6]3+* (ii) o BM
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(c) [Fe(CN)s]2+ (iii) 4.90 BM
(d) BF; (iv) 1.73 BM

88.

89.

Choose the correct answer from the options given below:
(1) (@) - (iv), (b) — (1), (¢) — (ib), (d) — (iii)

(2) (a) — (iv), (b) — (iD), (¢) — (1), (d) — (iii)

(3) (@) - (i), (b) — (iv), (¢) — (iib), (d) — ()

(4) (a) — (1), (b) — (iid), (¢) — (iv), (d) — (i)

QsTEH -1 8 0sTEH - Il 2 LT QUTHSHSIS.

Q&S -1 QasTeS -1
(a) [Fe(CN)s]3- (i) 5.92 BM

(b) [Fe(H20)6]3* (ii) o BM

(c) [Fe(CN)s]2+ (iii) 4.90 BM

(d) BFs (iv) .73 BM

ECp QaThH&SLILLB6Ter aumilliLgefley @bg Filwmareans CsIH6 &(H\& & a]LD.
(1) (a) = (iv), (b) = (D), (¢) — (ib), (d) - (iii)

(2) (a) - (iv), (b) — (ii), (c) — (1), (d) — (i)

(3) (a) — (i), (b) = (iv), (c) — (i), (d) - (i)

(4) (@) = (1), (b) — (iid), (c) — (iv), (d) — (ii)

Answer (1)

In which one of the following arrangements the given sequence is not strictly according to
the properties indicated against it?

(1) CO2 < SiO2 < SnO:2 < PbO:2 . Increasing oxidizing power
(2) HF < HCl < HBr < Hl . Increasing acidic strength
(3) H20 < H2S < H2Se < H2Te < Increasing pKa values

(4) NH3 < PH3 < AsH 3 < SbH3 : Increasing acidic character

ECp Q&EMHSEHLUILLGETET QEGTLISH0 6HS R6TM SSME THIME Q&THEHESLILLL
LI6D0TL|L_60T QLIMTIHHSHeN606m60?

(1) CO2 < SiO2 < SnO:2 < PbO2 : EMICOTHM HMET 2 WIHSH6V
(2) HF < HCl < HBr < HI : VG SEBTENND 2 _ULIH 6V

(3) H20 < H2S < HaSe < HaTe : pKa LDHLIL] 2 Wi &6

(4) NH3 < PH3 < AsH 3 < SbH;3 : VG SEBTENND 2 _ULIH &6V
Answer (3)

CH,CH,CO0-Na* —=""s CH,CH, + Na,CO,.

Consider the above reaction and identify the missing reagent/chemical.

(1) DIBAL-H (2) B=2Hs

(3) Red Phosphorus (4) CaO
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90.

o1.

NaOH, +7
—_—
BOLEESEN

CH,CH,COO-Na'* CH,CH, + Na,CO,,

et GuM&GeooTL.  ellemert BlHWS CoemauliL®  elGULlGeTer  ailemeorss Feoot] 6o Wi

&Hevor(HILILg..
(1) DIBAL-H (2) B2Hs
(3) P euliy umeLIFeN (4) CaO
Answer (4)

Which of the following molecules is non-polar in nature?

(1) NO-2 (2) POCl;

(3) CH=0 (4) SbCls

B LDGH 60T CLPEVE T MG 616V 6T (LNEMEITEUM M HE0T6MILN G & MTevoTL_Fi?
(1) NO:2 (2) POCl3

(3) CH=0 (4) SbCls

Answer (4)

Match List — I with List — II.

List—1I List — II
(a) 250:2(g) + 02(g) — 2S0s(g) (1) Acid rain
h
(b) HOCI(g) —» OH + C1 (i) Smog
(¢) CaCOs + H2SO4 — CaSO4 + H20 + CO2 (iii) Ozone depletion
h
(d) NO2(g) —1: NO(g) + O(g) (iv) Tropospheric pollution

Choose the correct answer from the options given below:
(1) (a) — (iid), (b) - (ii), (c¢) - (iv), (d) - (i)

(2) (a) - (D), (b) — (i), (c) — (iid), (d) — (iv)

(3) (a) — (i), (b) — (iii), (c) — (iv), (d) — (D)

(4) (a) — (iv), (b) — (iid), (c) — (1), (d) — (i)

QeMeH -1 8 0sTeH - 11 2L 6T QUTHEHS15.

QET&E - 1 QeTeE - 11
(a) 2S02(g) + 02(g) — 2S03(g) (1) @1dlev emp
h
(b) HOCI(g) —» OH + C1 (if) LefliLema
(¢) CaCO3 + H2SO4 — CaSO4 + H20 + CO2 (iii) G&FMedT LIL6VLD Tem 61605560
hv
(d) NO=(g) - NO(g) + O(g) (iv) &jgQeafll LGS

(LGrmGUmenLIWIT LOM&FemL5560)
FCY Q&ETH&SLIUL(BeTer aumulliLgsefled Fiflwmer seerenms CHIHE & H & & aLD.
(1) (a) — (iid), (b) - (ii), (¢) — (iv), (d) - (i)
(2) (a) — (D), (b) — (i), (c) — (iiD), (d) — (iv)
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92.

93.

94.

(3) (a) - (id), (b) — (iid), (c) — (iv), (d) — (i)
(4) (a) — (iv), (b) — (iid), (c) — (1), (d) — (ii)
Answer (4)

The molar conductivity of 0.007 M acetic acid is 20 S cm?2 mol’. What is the dissociation
constant of acetic acid? Choose the correct option.

A, =350 S cm? mol™

_ 2 X
ACH;,COO‘ =50 S cm“ mol

(1) 2.50 X 105 mol L (2) 1.75 X 104 mol L1

(3) 2.50 X 104 mol L+ (4) 1.75 X 10’5 mol L+

0.007 M 9151198 9fleugsHem Gmeury &HL&Z Hmer 20 S cm?2 mol! erevfley, L1956
ullevgHer Liflens wmmleSlufesr WHLIL] wWims?

Ay =350 S cm?® mol™

_ 2 =
Acrgcoo* =50 S cm* mol

(1) 2.50 x 105 mol L (2) 1.75 X 104 mol L1

(3) 2.50 X 104 mol L1 (4) 1.75 X 105 mol L1

Answer (4)

Choose the correct option for the total pressure (in atm.) in a mixture of 4 g O- and 2 g H-
confined in a total volume of one litre at 0°C is:

[Given R = 0.082 L atm molK?, T = 273 K]

(1) 26.02 (2) 2.518

(3) 2.602 (4) 25.18

0°C — Wleb 4 g 02 LMMID 2 g H2 -8 1 0L LT QLTSS SHeorT 36malley Q& meuoTL & 6V6m6uull 60T
QUMEES AWsHSSD (atm — ) ez eeTUMS Hpseol s fleysmefled @ wHal
CHIH0O &(H& & 6LD.

[Q&Th&sLIULG6Tems: R = 0.082 L atm molK?, T = 273K]

(1) 26.02 (2) 2.518
(3) 2.602 (4) 25.18
Answer (4)

The correct option for the value of vapour pressure of a solution at 45°C with benzene to
octane in molar ratio 3:2 is :

[At 45°C vapour pressure of benzene is 280 mm Hg and that of octane is 420 mm Hg. Assume
Ideal gas]

(1) 350 mm of Hg (2) 160 mm of Hg
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(3) 168 mm of Hg (4) 336 mm of Hg

45°C — 60 QUETEF6T OMMID EHCLET SHWaImenm 3:2 6edrm GLmMy alHs5E5 5 6L
Q@ mevor(heeT HempaFedlest Fifluimenr el S|(WHS HILIL:

[45°C Quer&erfleor el owHSWD 280 mm Hg wmmib o856 efler o6l (WSS
420 mm Hg. Goayilb HeL6edlWI6UL] eUMTUIE S 6T 6T60Td & (HSI5.]

(1) 350 mm of Hg (2) 160 mm of Hg
(3) 168 mm of Hg (4) 336 mm of Hg
Answer (4)

95. From the following pairs of ions which one is not an iso-electronic pair?
(1) Fe2*, Mn2+ (2) O, F-
(3) Na*, Mg2+ (4) Mn2+, Fe3+
GO Q&ETOH&HSLILL(H6TeT @ emneooT  Weollgmefled  6THE R6TM 5 61608 LT 6T
lemLienL QUM MI([H & & MSHI?

(1) Fe2+, Mn2+ (2) Oz, F-
(3) Na+, Mg2* (4) Mn2*, Fes+
Answer (1)

96. The intermediate compound X’ in the following chemical reaction is:
FLpsHevor ellemerTuilel 2 (HaIMGLD @6emLBleneull QUITH6T X 6TedTLIS!:
O
Il

CH. C~
’ ; i H

0l

cHl
0 CY
CH(OCrOHCl ),
o (Y
CH(OCOCH,,),
0 Y

e

CH< Cl
o (Y

Answer (2)
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97.

98.

The reagent ‘R’ in the given sequence of chemical reaction is:
FELpsgHeoor allemenrSQSTLfle LiweTLI(D ‘R’ etedtm allement & iyevorl:
N; CI

NH,
Bf\©/ Br Bf'\<;r Br Br. Br
NaNO,, HCI R
—_— —_—

O
Br Br Br

(1) CuCN/KCN
(2) H:20
(3) CH3CH=0H

(4) HI
Answer (3)

The slope of Arrhenius plot (In kv/s %) of first order reaction is — 5 X 103K. The value of Ea

of the reaction is. Choose the correct option for your answer.
[Given R = 8.314 JK*mol!]

(1) — 83 kJ mol?

(2) 41.5 kJ mol?

(3) 83.0 kJ mol?

(4) 166 kJ mol*

Tanfesfliey  FLOETUMLIQ6OTLI  eUemdFuWLiLIL L (In kv/s %) R0 (LS IS
allemenTs: & MeoT auemTLILSH6eoT Fmule] — 5 X 103K erevfley, 9ibg ellemeoruilest Ea 0&IL| 615
GTTLIN S S CHIHO &HH 8 & 6)LD.

[@am®&suulLg: R = 8.314 JK'mol]

(1) — 83 kJ mol+

(2) 41.5 kJ mol

(3) 83.0 kJ mol+?

(4) 166 kJ mol

Answer (2)
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99. Match List — I with List — II
List — I List — II
(@) @ —=2FC 5 (i) Hell-Volhard-Zelinsky
Anhyd. AICL/
CuCl
reaction
(b) R— g— CH ,+ (i) Gattermann-Koch
NaOX—
reaction
(c) R—CH, —OH (iii) Haloform reaction
+R’ COOH
Conc. HSO,
—_—
(d) R—CH,COOH (iv) Esterification

(1) X/Red P
—
(i) H,0

Choose the correct answer from the options given below:
(1) (a) - (i), (b) — (iid), (c) — (i), (d) - ()

(2) (a) = (iv), (b) = (1), (¢) — (i), (d) — (ii)

(3) (a) — (iii), (b) — (i), (¢) — (1), (d) — (iv)

(4) (@) = (1), (b) — (iv), (c) — (iid), (d) — (ii)

QeTED -1 8 QsT&s - II 2 L 6T QUTIHESI5.

QeT&HH-1 QeTeH - 11
CO, HCl
(a) Brom AICLy (1)  Clamd-Ceure
CuCl erl_mrrr'n'_ -
(Clepaedleiman
aflenenr
() R- ("I— CH, + (i) & e -
NaOX — Carg elleneu
() R—CH,-OH (11) GanGeorumibd
+R'COOH eNenen

LT H,S0,
e anTe Y

@ R-CH,COOH  (iv) eTevLit s

(i) Xo/&leuiy p
(ii) Hg0

FECY QA&THESLILLL aumllliLgefley Fiflwmer eeareanms CHIHE S H & S aLD.

L 2
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100.

101.

102.

(1) (a) - (i), (b) — (iii), (c) — (iv), (d) - (i)
(2) (a) - (iv), (b) — (1), (¢) — (iD), (d) — (iii)
(3) (a) — (iid), (b) — (i), (c) — (1), (d) - (iv)
(4) (@) = (1), (b) = (iv), (c) — (iid), (d) — (ii)
Answer (1)

BOTANY
SECTION - A

Which of the following statements is not correct?

(1) Pyramid of numbers in a grassland ecosystem is upright.
(2) Pyramid of biomass in sea is generally inverted.

(3) Pyramid of biomass in sea is generally upright.

(4) Pyramid of energy is always upright.

BLDGHETL. S MMIG 66 6781 & flmesT&H6060?

(1) @ LevQeuerl @Lp6y D6uoTL 0SS 60T 6TevoTeool & 608 LINTLSH GBI Ters.
(2) sLeder 2 wilF HyeT LNFUH QUITSHIEUTS 560 60S LTS,
(3) sLeder 2 uilF HyeT LNFLSH QUTSHIEUTS CHBITTETSI.

(4) @mm6ey IFLSEH TLIGUMSID GBI TS,

Answer (3)

Which of the following plants is monoecious?

(1) Cycas circinalis (2) Carica papaya

(3) Chara (4) Marchantia polymorpha

B LDG 600T L UM MIGT @ (HLIMED eUemn&H S SHTUFLD 6TSI?

(1) emsmev FI&H eormedl e (2) srflesm ulumwm

(3) smgm (4) wrysmearadlwm LMed WmTsUT
Answer (3)

The first stable product of CO- fixation in sorghum is

(1) Phosphoglyceric acid (2) Pyruvic acid

(3) Oxaloacetic acid (4) Succinic acid

Qemish smauysHe CO:2 BlenewblmissHa0lear CUME (WS 2 (hauTGld Blemeus Ll
QUITHGIT:

(1) umenBuUMReflEifles Ldlevid (2) emuemaild 9jdlevid
(3) @&FMTCM IFL 196 levd (4) F8:Fafls 9 ulevld
Answer (3)
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103. Diadelphous stamens are found in
(1) China rose and citrus (2) China rose
(3) Citrus (4) Pea
DB IHSSHTATHET @) (H 5 MMM ETTEH S & Mevor LILI(heusl:
(1) QFLUBSS WHMILD aallllFans (2) QFLUBSS
(3) Tl Femn s (4) UL Lmeoof]
Answer (4)
104. DNA strands on a gel stained with ethidium bromide when viewed under UV radiation,
appear as
(1) Bright blue bands (2) Yellow bands
(3) Bright orange bands (4) Dark red bands

105.

em @Quww wWeararmmUiflgsedey, e6FHIQUID LEFmemn@d epevld FmwGmmUILIL L
1q.6T60T.J.  LILeML&G6T, Lm orghns  &HHT  epevld  eeflul (Giid  CUME @ eleurm

L] 6V 60T T 55\ 65T ) 60T

(1) Werfliy Heull LILeIL&H6T (2) InEHF6T LIL 60L& 6T

(3) WerfliT QWTEh& LIL 6D & 6T (4) 9ILT Aauliyl Ul emL &6t

Answer (3)

Plants follow different pathways in response to environment or phases of life to form
different kinds of structures. This ability is called

(1) Maturity (2) Elasticity

(3) Flexibility (4) Plasticity

STATBIGET SHFOHMFGLPH VG QIMPGHmMS Wenmuwilemerll QUTMISS L6 ULl
LIMeNS&Hen6TEH QFHTLIHS Caumill L emloliL&eneT CHTMMIaNE&ERTMET. @) 5560760 L0
@ 6UaIMM 3IeMP& & LILOSRIMSI:

1) Ve J&ER (2) 86T BesTEmILD
(3) auemeTwid HeiremLo (4) QBB HaTEOLD
Answer (4)

106. Match List — I with List — II

List — I List — II
(a) Protoplast fusion (i) Totipotency
(b) Plant tissue culture (ii) Pomato
(c¢) Meristem culture (iii) Somaclones
(d) Micropropagation (iv) Virus free plants

Choose the correct answer from the options given below:
@ Mm © @
(1) (iv) (i) @) (@)
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(2) ) Gv) @@ )
(3) G @  Gv) (i)
(4) G Gv) @ G

Ulguey - I uliguiew - IT 2 L et QUTH&HSI5.

ulguley - I uriguiev — I1
(a) yCprLGLmermsF @) 6emevoTey (D) Www 2 maImé: 1D
(b) smeurs & euaTILIL] (i) GUMTGWLGLIT
(c) 2555 Fa aueTrLiL (iil) G&mGLOME G6IT 60T 6iT
(d) mievor QUIHE LD (iv) emeumeiv BRIGIL HTEUTHIS 6T

Gls et Qsfleysefledmba Fiflwmer allemLemnwid CHIHE &HH 8 S aLD.
@ ® @© (@
(1) (iv) () @G @
(2) (i) Gv) @@ @
(3) (i) @) Giv)  (iiD)
(4) (i) (@Gv) @ (ii)
Answer (3)

107. In the equation GPP — R = NPP
R represents:

(1) Respiration losses (2) Radiant energy

(3) Retardation factor (4) Environmental factor
GPP — R = NPP etettm &FoeotImML_1q60 R eteoTLIS !

(1) R G560 6T @ LOLILIG6T (2) a8 lwes mmey
(3) LYevreoTemL_6d 85 miyevor] (4) &M mI& @6V & TTeol]
Answer (1)

108. The production of gametes by the parents, formation of zygotes, the F1 and F2 plants, can be
understood from a diagram called:
(1) Net square
(2) Bullet square
(3) Punch square
(4) Punnett square
QUMBMMTISH 66T @) 6TF QFSHET 2 (HEUTEHSEHLD, MFCHTL(HSH6T 2 (Heumsd s, Fi nmmild Fo
STUTBIGET Hweumenm LflbE Q& meTeT 2 GHaild euemyLILLD:
(1) euemevd Fg1TID
(2) yeveu. Fg1yID
(3) uEh& FaITD
(4) yeTreoTL FSITLD
Answer (4)
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109. Which of the following is an incorrect statement?

(1) Nuclearpores act as passages for proteins and RNA molecules in both directions between
nucleus and cytoplasm

(2) Mature sieve tube elements possess a conspicuous nucleus and usual cytoplasmic
organelles

(3) Microbodies are present both in plant and animal cells

(4) The perinuclear space forms a barrier between the materials present inside the nucleus
and that of the cytoplasm

BLHETL T MMIG6Tl6L FfllmMma! 6151?

(1) 2les®m ummibn sl CLmieTmaln @G LIsmi&ser mmiin RNA enevs sn mi& 6T
SLLULSMSTeT @@ UL LIMTenNG&H6TTES 2 L &H(IHS Sle06TdHeT 6l& WieLLI(H 5 60Tmeor.

(2) WHTHE FLVMLEGLLTU FaMIG6T, @@ QGefleumar 2 L &@ WmmID O LMTSIeUTer
&L GLTUlenmEF 2 mMILIL|56m6Ts 6 & Teoor(h 6iTeITeoT.

(3) mIevor 2 L6V MIGET STeUl MmMID alevni@E Q&F6L&6rfley & mevorLlLI(H S 65T M 60T.

(4) 2les@m wHMID ol GLMflemmaFld HRWaImMIeT SHmeoorliL(RD QLML & erfledt
@B SIS, 2 L & SmMIWLenbS G enL a6 2 6Terg..

Answer (2)

110. Match List — I with List — II

List—1I List — II
(a) Lenticels (i) Phellogen
(b) Cork cambium (ii) Suberin deposition
(c) Secondary cortex (iii) Exchange of gases
(d) Cork (iv) Phelloderm

Choose the correct answer from the options given below:
@ M @ (@

(1) v) @) @@ (i)

(2) v) (@ @) (D)

(3) G @O  Gv)  @G)

(4) (i G G 0

uliguiev - I uligue - Il 2. Ler QUT(HSHSIS.

Urguwev - I ULCiguwe - IT
(a) uLemLGsIemear (1) &QLELBITE Q60T
(b) &mys Gos LWL (i) srurfledt LIgg6ev
(c) @ueooTLITID Blemey Ljmeoor] (iii) eurwsserflest LIFfllommHMLD
(d) s (iv) &G LI6LBITGLTLD

G et 05 fleysefledlmba Fiflwmar ellemLemuwsd CHTHOHH & &a]D.
@ m @© @
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112.

113.

(1) G(v) @@ @ (iii)
(2) (iv) @ (i) (i)
(3) (i) () Gv) (i)
(4) i @@ Gv) @
Answer (3)

The amount of nutrients, such as carbon, nitrogen, phosphorus and calcium present in the
soil at any given time, is referred as:

(1) Standing crop (2) Climax

(3) Climax community (4) Standing state

STTLET, 6MBLIFR60T, UMmeuLey MmN STHWD  CUTETn o6l |LF F&HSI8H6T
GOILNLL 6ThBE HTVSH VD DT 60 SHMeooTLIL(ReUSET 66| @) 6UeUTmTs: &

GSOLILLILGS S

(1) BIm@&W uulr (2) 2_5F1d

(3) 285 WD (4) BlemesH G LI Blemey

Answer (4)

The term used for transfer of pollen grains from anthers of one plant to stigma of a different

plant which, during pollination, brings genetically different types of pollen grains to stigma,
is:

(1) Cleistogamy (2) Xenogamy

(3) Geitonogamy (4) Chasmogamy

D&EIHSF CFIsHm&HWIeT GUTEH WLIUSFTT CamUTHLW WN&ETHSH S8 6TH6T,
GOWINEEG Q&M QFNID EIONE, @@ STAUTSH 6T W&HETHSL Uuled®mbal
D&EIHSS SHETHAT, CaQMMIH STAUFSHET GOWINHEG WLTMHMULUGLL ID&THSF
GFIHms HIGPaINEG LUWeTURSSLILIMHLD LS 6T51?

(1) eLpQW LDEVT DETHEHF GF 560 (2) Qeuerll L&HETHHEF CFIEHNH

(3) Cam Ul 19 CeormGss LAl (4) DOHHWOVT WDHTHHF CF T8 M5
Answer (2)

Which of the following stages of meiosis involves division of centromere?

(1) Telophase — II (2) Metaphase — I

(3) Metaphase — 11 (4) Anaphase — II

F&HeooT.  GeoTmey  UGLIL Blemevuled Qaer Crmuilwy  Uiflsey erbmlem evudlev
BN L QLIS M SI1?

(1) e@eumsGuiery — I (2) QL LmsGuev -1

(3) QuLLmsGuev —II (4) oeotmeCLEL - I1

Answer (4)

Anna Nagar, Mogappair, Madurai & Trichy 46 9884421666 | 9884432666 | 7845227484



é % VETRI NEET GATEWAY
= NEET PREVIOUS YEAR QUESTION - 2021

o

o
v

o

114.

115.

116.

Which of the following is a correct sequence of steps in a PCR (Polymerase Chain Reaction)?
(1) Annealing, Denaturation, Extension

(2) Denaturation, Annealing, Extension

(3) Denaturation, Extension, Annealing

(4) Extension, Denaturation, Annealing

FLpssevor_eummiet PCR -60 (UMednCrev #miSeds QsmLT ellemerr) siflwmer eulflen &8
QSIMLI LI Blen6eud:eT 6151?

(1) usLILGSSIH, @ueLlpgse, BLE

(2) @Quelipsge, USLILGSSISO, BLE

(3) Quelipggen, BLA, LGLILEOSS!IS6

(4) BLE, Quevingse, LSLLEOSSIS6

Answer (2)

When gene targeting involving gene amplification is attempted in an individual’s tissue to
treat disease, it is known as:

(1) Safety testing (2) Biopiracy

(3) Gene therapy (4) Molecular diagnosis

@@ Seflwiflar Haaley CHTU PRFMFSHG 2BaT QUIHSHSHID epevld SeT G nilemous S 60
B&LSSILGS @ 6IaUTmTeH emps s LILGSRMS:

(1) umsIsTUL G5 & 60 60T (2) 2T ®B LG
(3) Setr AP Fen& (4) epevs g0 GHTLINIS6
Answer (3)
Match List — I with List — II
List — I List — II
(a) Cristae (i) Primary constriction in chromosome
(b) Thylakoids (ii) Disc-shaped sacs in Golgi apparatus
(c) Centromere (iii) Infoldings in mitochondria
(d) Cisternae (iv) Flattened membranous sacs in stroma of plastids

Choose the correct answer from the options given below:
@ O @ (@

(1) (@ ) Gv) @

(2) (v) () @) @

(3) o  Gv) G ()

(4) ) Gv) @O (@)

ulguwey — I uliiguiew - IT 2 L6t QUTHSHSIS.
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ulguwev -1 uLguwev - II
(a) ®njlevGL (1) &CITGLMGEFMING 6T (LNSH6V Blemey
Q&SI LGH
(b) emz6ev8 & MTUIHS 6T (i) Gmmevemd 2 mILIL|Serfley 2 6iTem
L (b U6l 60L& 6T
(¢) QEeTl_Grmuilwir (iii) emLOL @LIT-& mevor L_ifl ul M & erflev

& M6ooT L1LI(HILD 2_6TL0LG LIL|& 6T
(d) ®rervuLrGeor (iv) Nermervig(hss6rfley 2_6Tem eV GITLOMS &5 61fl6L
55 1600T L1LI(H\LD SF6UGUMEVITEOT &L _60)L_UIMTEOT 60)LI856IT

EpseorrL s fleysefledmba Fiflwmear alanLeamuwsds CsHTH6 & (H\& & a]LD.

@ Mm (@© (@@
(1) () G Gv) )
(2) (v) G @@ ()
(3) ®  Gv) (@) D)

(4) (i) (@Gv) (@) (i)
Answer (4)

117. The factor that leads to Founder effect in a population is:

(1) Genetic drift (2) Natural selection

(3) Genetic recombination (4) Mutation

R @615 Fal LEH 60 Blmiauery allenere GSMeiTmIeSe0T & TJeuol] eT&?
(1) oy eflevss ey (2) Qupens alfle CsiTe)
(3) LIy MG enemTey (4) #@& wTHOLD

Answer (1)

118. When the centromere is situated in the middle of two equal arms of chromosomes, the

chromosome is referred as:

119.

(1) Acrocentric (2) Metacentric

(3) Telocentric (4) Sub-metacentric

GCITELTCF MG efl6tr @)@ &FLoLnmer Bemipenll SJmI&HEHsS G Bheley Q&L Gy midlwiF
MBGE &MeooT ILIHCUTS 3186 GCITETCF TN @ 6lamm empdhsLliLGSHmS:

(1) &,5CrTQFeTL flg (2) QLT Q&eTL fls

(3) 1eGeum QFeTL fl5 (4) FU-QWLLT Q&FeaTLfls
Answer (2)

Gemmae are present in

(1) Some Liverworts (2) Mosses

(3) Pteridophytes (4) Some Gymnosperms

QYINTE&6T @My & meoorLiLI(h 8 60T M 6oT:
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120.

121.

(1) Bev SeuTaumyL_(h & 6T
(3) QLFlCLmem LI ()& 6T

Answer (1)

(2) omervags et
(4) B v LDGeTTENVG LITLDG 6T

During the purification process for recombinant DNA technology, addition of chilled ethanol

precipitates out:
(1) Polysaccharides
(3) DNA

(2) RNA
(4) Histones

IDMIFa L Igemetore] DNA QamdmmlusHe saflCw Ll sbhissedear CuMsl, &e6flThs

THHTTE) CFJ&5 & LILIH6USET eneuld eSpLIGeIMalSI:

(1) umedl &Fms &g (H\& 6T

(3) DNA
Answer (3)

Match List — I with List — IT

List - I
(a) Cohesion
(b) Adhesion
(¢) Surface tension
(d) Guttation

(2) RNA
(4) enlevGL meTas 6T

List — II
(i) More attraction in liquid phase
(i) Mutual attraction among water molecules
(iii) Water loss in liquid phase
(iv) Attraction towards polar surfaces

Choose the correct answer from the options given below:

(@ (b
(1) i @
(2) (i)  (v)
(3) (iv)  (iiD)
(4) () @

(d)
(iii)
(iii)
€y

(i)

UCigwev - I'sg uliquiey — IT 2 L 6T QUIT(HSHSI5.

ULigwe - I
(a) Gaunjleor aflemr&
(b) efleor s

(c) upuy @uwellens
(d) By augsed

uLigwev - IT

() ®geu Blemevulleh G\ FiFLIL

(i) BT eLevss Fo. M5 655G 607 L G LLILLI 60T
Ugeouy FFiyUy

(iii) e wlemevuiey BHiy @LoLiL

(iv) s1peul) ULl s emer GBI FFITE 560

G e 5 fleysefledmha Fiflwmar ellemLemuws CHTHO M 8 & a]D.

(@ (b
(1) () ()
(2) i)  (@v)

(d)
(iii)
(iii)
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(3 G(v) (i) @) @)
(4) (i) (D) (iv) (i)
Answer (2)

122, The site of perception of light in plants during photoperiodism is

(1) Leaf (2) Shoot apex

(3) Stem (4) Axillary bud

6fle HMVSSHISH T CLMS SHTaUIMmIGH6T eeflenul 2 eorhHld LIGS:
(1) @emev (2) SevoTIq 60T Hl60f]

(3) evor(d (4) @668 GG Meor QLML)
Answer (1)

123. The plant hormone used to destroy weeds in a field

(1) IBA (2) IAA (3) NAA (4) 2,4-D
FHM6TSH Q& MeLedl WM auledley LWeTLUMSSLILMOLWD ST eUeTIFS 2en56):
(1) IBA (2) [AA (3) NAA (4) 2,4-D
Answer (4)

124. Which of the following algae produce Carrageen?

(1) Blue-green algae (2) Green algae

(3) Brown algae (4) Red algae

L& evor LITH &erfley smpmelest 2 MUSH QF UILIEn6I eTemel?

(1) Beull - L&D LITH ST (2) UL LT &6T

(3) uLIYU UT&A & e (4) Feuliyl UTH &eT
Answer (4)

125. Complete the flow chart on central dogma.

) ©
() DNA ——  mRNA——— > (d)

(1) (a) — Transduction; (b) — Translation; (c) — Replication; (d) — Protein

(2) (a) — Replication; (b) — Transcription; (¢) — Transduction; (d) — Protein

(3) (a) — Translation; (b) — Replication; (¢) — Transcription; (d) — Transduction

(4) (a) — Replication; (b) — Transcription; (¢) — Translation; (d) — Protein

MWOWS GHMLLIMLIGET QSTLT aUeDTLLSMS (LO(LD6MLOWITE & 6YLD:

(1) (a) - &sLS56; (b) — QuTHALWTSSE; (¢) — @ULKUUnge; (d) — Yrsld

(2) (a) - @rLuunge; (b) — LLAWESS; (¢) — HLSSH6; (d) — Ursd

(3) (a) - QuTHUWISEH6; (b) — @ULIgLiLTge; (¢) — LQWESS; (d) — HLES6
(4) (a) — @l iungev; (b) — LKAWESS6L; (¢) — QLTLHAUWTSS; (d) — LTsd
Answer (4)
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127.

128.

129.

Which of the following are not secondary metabolites in plants?

(1) Rubber, gums (2) Morphine, codeine

(3) Amino acids, glucose (4) Vinblastin, curcumin

GG aIMMIET  elemel  SMaUTEIG6 ) @ Teormb Blemew ealemTFHengd LOMMHMLI
QUITIHL& 6T |6V6V?

(1) @ruuy, CaMbHel (2) WrTsLN60T, GssTie 6T

(3) oGV BIGL 6T, (& EHC8 M (4) ellerLiermmeruig6or, & 7@ Lleor

Answer (3)

Inspite of interspecific competition in nature, which mechanism the competing species might
have evolved for their survival?

(1) Predation (2) Resource partitioning

(3) Competitive release (4) Mutualism

@umensdsuiley, FMmleoTmisEpsH el Guiwimeor  Gumligwimuileyd, 2 ully Nenps s 6o
QUIBL( GUITLLY FMN6THRISGH6T QLME & meoorL el (e m:

(1) @& meoT M) 6T0TETDI F56V (2) @sMIL LGITey

(3) sumlg el@efliiLy (4) LBTHS! EUTLDGEY

Answer (2)

Which of the following is not an application of PCR (Polymerase Chain Reaction)?

(1) Detection of gene mutation

(2) Molecular diagnosis

(3) Gene amplification

(4) Purification of isolated protein

GLpsevorLeummieT PCR (Lmelln@rev #mi&Hels QLT ellemenr) — 60T LILIGTLT(H 6TSI6U606V?
(1) getr FOHWLTOMSENSHE & 600TLMH6V

(2) eV Fam CHITWMISEL

(3) et QUEHSHSHLD

(4) B sM&ELIULL ISHemns STUIemLOWITES 60

Answer (4)

Match List — I with List — II
List — I List — II
(a) Cells with active cell divison capacity (i) Vascular tissues
(b) Tissue having all cells similar in
Structure and function (ii) Meristematic tissue
(¢) Tissue having different types of cells (iii) Sclereids
(d) Dead cells with highly thickened
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131.

walls and narrow lumen. (iv) Simple tissue

Select the correct answer from the option given below:

@ Mm (@© (@@
(1) G G Gv) @)
(2) ) Gv) @ (i)
(3) (v) @) G @
(4) ® G G (Gv)

uliguiev - I g uligue - Il 2 LeT QUT(HSHSIS.
UCiguwey - I uLiguwe - IT

(a) QFwev NG Q&6 LIGLIL SpmMmev
Q&5 MevoT L Gl &F6VEs 6IT (1) eume@& VT H) &8 6T

(b) ©iemoLiL LOMMILD QF WS R5&5S
QFLGH AT ML & &8 56T (i) 9655 Ho

(c) L6V 6UE & WIMETT Gl &6VE 606
2 LW B&& 56T (iil) e & eSH(H&s 6T
(d) B&g 51965 seulf HMILD GS0ISHW
SUITLDGOT Q& MeooTL. @ MHH © F6VE 6T (iv) eterflw S & 60T

Esel Qsfleysefledmba Fiflwmear aflemlenisds CEHTHE &5 (H\& & aLD.

@ ®» @© (@
(1) (i) @@ Gv) @
(2) @ G O (iii)
(3) (iv) (i) @) (@)
(4) (D (i) G Gv)
Answer (2)

A typical angiosperm embryo sac at maturity is:
(1) 8-nucleate and 8-celled
(3) 7-nucleate and 8-celled

(2) 8-nucleate and 7-celled
(4) 7-nucleate and 7-celled

R EHF CUMVQLITID FHTaITSHH 6T WHTHS SHHLmML G elaUTm 6mLHS6TeTSI:

(1) 8-Blwserfluisy MmID 8-Q&F608 6T (2) 8-Blw,&efluiey MMID 7-QF608 6iT

(3) 7-Blw,seflwen MM 8-Q&F6u& 6T (4) 7-Blwgerfluien WMHMILD 7-Cl&F608 6T

Answer (2)

Which of the following algae contains mannitol as reserve food material?

(1) Ulothrix (2) Ectocarpus

(3) Gracilaria (4) Volvox

GLpG&Hevor. LITH & erflel eT&l6v LomeoTeoflLmel GFLAILIL] 2 6ooTelLl QLITIH6TTS: 2_6TemSI?

(1) 2_GeumsIfla e (2) 618:GLMEMTLI6N
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(3) Bom&A Geurflwim (4) eumeLeuTE: 6iv
Answer (2)

132.

133.

134.

Genera like Selaginella and salvinia produce two kinds of spores. Such plants are known as:
(1) Heterosporous (2) Homosorus

(3) Heterosorus (4) Homosporous

QEFeumglQereveu  WMmmIh  Freveieflwm  GumesTm  CUIfleTmBISGET @@  6Uen & W TeoT
GrUGLIMTIS 6m 6T 2 _(IH6UITE (& 60T M 60T. 3RS SITEUIT MBI & 6T @ euemm
MWL (B G 6T 60T

(1) Qamig Grmeru@LImyen (2) CammGLMGEF myen

(3) Qamiq GFm@&F myen (4) GammGLomerGLIT Fen

Answer (1)

Mutations in plant cells can be induced by:

(1) Zeatin (2) Kinetin

(3) Infrared rays (4) Gamma rays

ST QF&Eefley @ &6 epevld FH1SH LMMHMLD S&revorL LGS M S!:

(1) Ewimigqeor (2) 608 6oTIq.60T

(3) 9158 Faullls SR TSH6T (4) &M &S T8 6T

Answer (4)

Amensalism can be represented as:
(1) Species A (+); Species B (0)

(2) Species A (-); Species B (0)

(3) Species A (+); Species B (+)

(4) Species A (-); Species B (-)
IQEETFMOFLD eTedTLIeMS @ 6ueumml &ML L 6uTLD:
(1) ®plerid A (+); Gmlerid B (0)
(2) ®ppileord A (-); Fmilerid B (0)
(3) ®pdlerid A (+); Bpileorid B (+)
(4) ®ppileorid A (-); Aplesrid B (-)
Answer (2)
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SECTION - B

135. What is the role of RNA polymerase III in the process of transcription in eukaryotes?
(1) Transcribes only snRNAs
(2) Transcribes rRNAs (288, 18S and 5.8S)
(3) Transcribes tRNA, 55 rRNA and snRNA
(4) Transcribes precursor of mRNA
WesHGWTL (Gs&enley (QuUIWLs@m 2 ulflarmisern) LIGQuWbBSSHey Bahelear Gums RNA
LImeSlo@rery T11-60T LIMRIG 6T60T60T?
(1) snRNA &semer 0D LIGQUWBE&ERM S
(2) rRNA saemer (288, 18S and 5.8S) LQQUGHSH6L
(3) tRNA, 55 TRNA wommilb snRNA &a&emer L6 wh&EHev
(4) mRNA a6t (pesTQLIT[Hem6T LIGQUWBSEHM S
Answer (3)

136. Select the correct pair:
(1) Loose parenchyma cells rupturing
the epidermis and forming a lens shaped
opening in bank - Spongy parenchyma
(2) Large colorless empty cells in the
Epidermis of grass leaves
Structure and function - Subsidiary cells
(3) In dicot leaves, vascular bundless are

surrounded by large thick-walled cells Conjunctive tissue
(4) Cells of medullary rays that form part of

Cambial ring - Interfascicular cambium
Frflwmer @emeorenls CHITHGO & [HE & 6LD:
(1) OBm&HSHIMMD LTTETen& T G&F6VSE 6T,

LM&SCHTen6n Slemers g L emLulley

2 (HaUMS GLD allevemev GLIMETM HMLIL] - LI@h& LIMTIeoTem & 0N
(2) ymsefler @enevssefley smeoorliLBIL Quiflw

BIOWmHM QeumMml LiMmSCHTeL G &F608 6T - 1606007 G F6LG 6T
(3) QBaIEHMmevS Sraur @ emevsartley

QUTENG LM HMemm& 6T QU Fl1955

GalJ Q& Me0oTL. QFEVSHETTEL G LPLILIL (H6TeTS @ emeooTlILIS Ho
(4) CaLIW aImETWSH6ET LIGHITS
2 (UMD QLB el &&H TS 66T Cl&F68s 6T smenmullemLg G lbLwih

Answer (4)
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138.

139.

Plasmid pBR322 has PstI restriction enzyme site within gene ampR that confers ampicillin

resistance. If this enzyme is used for inserting a gene for p-galactoside production and the

recombinant plasmid is inserted in an E.coli strain

(1) It will be able to produce a novel protein with dual ability

(2) It will not be able to confer ampicillin resistance to the host cell

(3) The transformed cells will have the ability to resist ampicillin as well as produce
B-galactoside

(4) It will lead to lysis of host cells

2L 65 6T eTHTLINemenr 2l6fla @b ampR Seofleniem Pstl euendpwmissLULLL QBTHE

&HemHengd pBR322 ermeuldl(h Q& mevor(hleTenal. B-&HMeusdCLMend. 2 MUSH &S M6 (H

SeneT LGSHSUSN&G @bFH QBTHenl LWaTLGSH WwmiCFiseans Nermevdl®m m

67.C& memey W6 LGS S LI LIT6L:

(1) 918 @EWAFWTHMEL C1& ML 6(H L|SIeMWUWTET LJHSHmE 2 MLGH Gl& WiuLb.

(2) ebywlfl QFedME& b 6vedar rHTLILNemerr o6fleas @) ueumgl.

(3) LTHOWL QUMM QFUG&HET I DLIF 6T & TLImUWL QUMM B-&Mevd CLTem & L
2 MUSH WD Q& UIWLD.

(4) @181 eUuf]l GFaedlar 9iflana gHLGSSILD.

Answer (2)

DNA fingerprinting involves identifying differences in some specific regions in DNA
sequence, called as

(1) Polymorphic DNA (2) Satellite DNA

(3) Repetitive DNA (4) Single nucleotides

DNA sLw gnellwe ererig DNA auflensgs QsmLflev oLl L UGS &efley 2 6ter
GaumILIT(H & M6 & 6oL MIeUSTEGLD. SLILIGHH6T @ 6UaUTm 26008 8 L1LI(H S 60T 60T

(1) umedomiyLiies DNA (2) Frligemeu. DNA

(3) BSeTQsTLT DNA (4) @menm Blw,s e Cwimen L (H\& 6
Answer (3)

In the exponential growth equation Nt = Noe™, e represents

(1) The base of geometric logarithms

(2) The base of number logarithms

(3) The base of exponential logarithms

(4) The base of natural logarithms

Li6v DI LIQLIH &S Nt = Noe't, FL0eTmL1q60 e &GmlliLg:
(1) eugelluieh DL &emnasuller QL

(2) er6voT LOL_85608 WIN60T 9419 LILIemL

(3) LEWIYLIAUIHESS 0L 8em8UN6T 91 LILienL
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142.

(4) @uei DL Gemaul6edT 91 LILienL
Answer (4)

Which of the following statments is incorrect?

(1) Cyclic photophosphorylation involves both PS I and PS II

(2) Both ATP and NADPD + H+* aren synthesized during non-cyclic photophosphorylation

(3) Stroma lamellae have PS I only and lack NADP reductase

(4) Grana lamellae have both PS I and PS II

FLDG&H600TL. S MMIG 660 6T & flLIMeT&H6060?

(1) &wev eeflll umevuTflageongsHev PS I wmmib PS I o4& w  @pevor(h) b
FF (h\ LI ()G9 65T ) 60T.

(2) &wedleveur sarflll LMevLIMflE&FeoorsFH et CUME ATP ommith NADPH + HY gu&\uwl
@nevor(Hd SWMflE&&LIUGSRMS.

(3) evL_Grmom evmGevevTE&6T PS T ol (Il QummieTemet. eummlev NADP flL_&GL erv
& MeooT L1LI(H 6 6L 60I6V.

(4) @gmeorm eumQeLeLMEG6T PS I ommib PS 1T oy&ul @) pevorem LD G &5 mevor (h)6ITeIeoT.

Answer (1)

Which of the following statements is correct?

(1) Some of the organisms can fix atmospheric nitrogen in specialized cells called sheath
cells

(2) Fusion of two cells is called Karyogamy

(3) Fusion of protoplasms between two motile on non-motile gametes is called plasmogamy

(4) Organisms that depend on living plants are called saprophytes

GG 60T G MMIG 660 Fiflimenral era?

(1) Aev 2 WfleoTmIG6T 6UETILNETITL 6V MBLTRMT SHMenM CFGEET 6Tepld &) mLiLImeoT
QFeLs6fleL mlemey Mg S5 60T 6or.

(2) @ QFsuserlear @enemre] CaIGWTECHLA eTeoTLILI(ILD.

(3) QB PHEIGHIQL VVE BEHIT @6 QFeserlear LCTmLGCLITL6TTE Mg 6 6o
@ emevore] LlemmenuGLomess il ereorLiLI(GID.

(4) 2.WlFeumps STaIIEIGe6T FTIbHSl6eTem 2 ulifleoTgs 6T & m(Hevoreo18 6T 6TeuTLILI(HILD.

Answer (3)

Match Column — I with Column — II

Column - I Column — II
(a) Nitrococcus (1) Denitrification
(b) Rhizobium (ii) Conversion of ammonia to nitrite
(¢) Thiobacillus (iii) Conversion of nitrite to nitrate
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(d) Nitrobacter (iv) Conversion of atmospheric
nitrogen to ammonia.
Choose the correct answer from options given below:
@ M @© (@
(1) (iv) G @G) @)
(2) (i Gv) @O (i)
(3) » @ ) Gv)
(4) a @O Gy (@G

uLiguiey - I g uligue - Il 2 L 6T QUT(HSHSIS.

UCguwey - I ULigwe - IT
(a) emBL_CyTes Ma & 60 (1) empL et H& 81D
(b) emyCaFmLNwLD (i) oJCwrefluimemel enBLeNTL LTS
LT QI SH6V
(c) emzCWTCLIF sv6v6N (iii) emBLeMIL6emL em™BLCFLLITSH LOMTMMISH6V
(d) e»BLGrmUME LT (iv) euerflLDEvoTL_ 6V 60 [BL_ [T 8260 60T

S|LDGLmesflulmeuTss  Lomm migHey
Esel Qsfleysefledmba Fiflwmear el CaHTHG &5 (H& & aLD.
@ ®» © (@
(1) G(v) () @ @
(2) i ) @ (iii)
(3) (D (i) G Gv)
4) (i) (D (iv) (D)
Answer (2)

143. Which of the following statements of incorrect?

(1) Oxidation — reduction reactions produce proton gradient in respiration.

(2) During aerobic respiration, role is oxygen is limited to the terminal state.

(3) In ETC (Electron Transport Chain), one molecule of NADH + H* gives rise to 2 ATP
molecules, and one FADH: gives rise to 3 ATP molecules

(4) ATP is synthesized through complex V

BLDGHETL. S MMIG 66 6781 & flmesTH6060?

(1) FaumAH506ar CUMEH &EMINCOTHM — (K& Nlem6aTs 6T LICTTLLITET 6UTL.L & 605
2 _(IH6UITE (& 60T M 6OT.

(2) MMM GHUTFSHOTCUMTE  86er0lefleadr LMIG, (WIge Blenmeuuilley auemruImisss L
UL (heTerg.

(3) ETC (61@Qev&Lpmest &L 55185 FmIeed) ulleh @ enevdanm NADH + H+, @nevor( ATP
ELNEVE: T MIGEM6T 2 (HaUTHGHME MM e@h FADH: epeitmy ATP eLn6v8 Gn M1 60) 61T
2 ([HeUMHGRPMSI.
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145.

(4) FmLlLemwliy V ewpeulnns ATP 2 (peuns s LU m .
Answer (3)

In some members of which of the following pairs of families, pollen grains retain their
viability for months after release?

(1) Rosaceae ; Leguminosae

(2) Poaceae ; Rosaceae

(3) Poaceae ; Leguminosae

(4) Poaceae ; solanaceae

Fp&HeooT  HTaugs GhHLL Geneorskertley ereummledr Flev Smaugmisefled W&THSEH S
SIG6TEH6T QaueflGWMMUILLL L6 LOMSHISGT SHLbBEHID SHmiserfler 2 ulliJsHsesrsn e s
HEHEHMUSSHIH 6 & T600T(H 6ITET6T?

(1) GrmGsd ; Qe LGaTTCE

(2) GuTCW® ; GrmGsF&H

(3) CUTCW® ; QevELIGeTTCHF

(4) GUTCWS ; G&MeLGCTH

Answer (1)

Identify the correct statement.

(1) Split gene arrangement is characteristic of prokaryotes

(2) In capping, methyl guanosine triphosphate is added to the 3’ end of hnRNA

(3) RNA polymerase binds with Rho factor to terminate the process of transcription in
bacteria

(4) The coding strand in a transcription unit is copied to an mRNA

FlmeT gamenma & 6ooTLMIuIe]LD.

(1) yGymamflewrl (&enley WwrLsl LN6eTsHEH60 emInLIL] 6(H LI6voT LIMG LD.

(2) hnRNA  elleor 3 wligalev Q5H 6L (& 6UGEITT6) F 60T CemnguUmeuGL L
STLULMMUWMESHSH T CUMS @) emenrs sl LIGSIM .

(3) umseflumald ULAWHSH BlHpanal Bleme| GQ&FuIw RNA umedwérev Rho
& TT600l UL 60T () 60)600T &\ &l

(4) 0 ULAWHSH SR GMIIUIBH @ MRNA &@& BH6V dH&ESLILGRMS.

Answer (3)
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146. Match Column — I with Colum — II

Column -1

Column - I1

(8) %@KoCirz.wh. G () Brassicaceae

0) P K5 CuAG,
(c) de(?:? 3A3+38

(d)  ®3Kz.2CiAr_4 Gy

(i) Liliaceae
(iif) Fabaceae

(iv) Solanaceae

Select the correct answer from the options given below:

@ b (o
(1) (v) @) @
(2) (i)  (v) (i)
(3) @) (i) (i)
(4) ( () (iv)
LLCiguev — I o L edr 1L I1qUul6ey
uLigweo - I
(@) %éK(s)C1+z+<2)A(9)+1g1
() 05K 5,C AsG
7~
© ‘Bép @a+323+30)

(d) @Q'Kz +2C480_ 4Gy

(d)
(iii)
(1)
(iv)
(1)

-1l QUM SSLD.

ULigwev - IT
() YyrHCss
(i) eSlevadlCuid
(i) o.CuCGud
(iv) CereCendl

G et 5 fleysefledmha Fiflwmar ellemLemuws CHTHO M 8 & a]D.

@ (b (o
(1) (iv) (@@ @
(2) (i)  (v) (i)
(3) (D (i) (i)
(4) (i () (v)
Answer (2)

147. Match List — I with List — II
List — I
(a) Protein
(b) Unsaturated fatty acid
(¢) Nucleic acid
(d) Polsyaccharide

(d)
(iii)
(1)
(iv)
(1)

List — II

(i) C = C double bonds
(i) Phosphodiester bonds
(iii) Glycosidic bonds

(iv) Peptide bonds
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@ Mm @© (@@
(1) (v) G @O @G
(2) vy @O (@ (i)
(3) ®  Gv) (@) D)
(4) ) @O  Gv) (i)

uliguiey - I g uligue - Il 2 LeT QUT(HSHSIS.

ULriguwev - I ULCiguwe - IT
(a) yrsld (1) C=C @uLenLLl LNemeuorLiL 8 6T
(b) Blemmaymm Q&ML oflevd (i) LmevCUT emL eTervLiJ LN et evorLiL| & 6T
(c) Plw,serfle 9jdlevid (ill) Ber6eTCHTH 9.8 LIl6m 60T LIL| 55 6iT
(d) umed s TwH (iv) QuliemL () LNemevorLiL| 6T

et 5 fleysefledlmha Fiflwmar ellemLemuwls CHTHEHH & & a]D.
@ O® @© (@

(1) (iv) (i) @ (ii)

(2) (iv) () (i) (i)

(3) (D G(v) (i) (i)

(4) (i) (@) (iv) (i)

Answer (2)

Match List — I with List — IT

List — I List — II
(a) S phase (i) Proteins are synthesized
(b) G2 phase (ii) Inactive phase
(c) Quiescent stage (iii) Interval between mitosis and initiation of
DNA replication
(d) Giphase (iv) DNA replication

@ Mm (@ (@@
(1) ) Gv) @) ()
(2) G G @ G)
(3) (v) @@ G @)
(4) vy @O @G (i)

LCiquiev - I'gguliquiey — IT 2 L 6T QUITHSHSIS.

urigwev - I urigwev - IT
(a) S plemev () yrsmseflear 2 HLSH
(b) G2 plemev (i) QFwevmMm mlemev
(c) 2.m& & mleney (iii) emwLTF v MM DNA LIQUIMTEH6) QSTL & &L
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L& Wweum Mleoflem L Guiwimer @) enL CouemerT

(d) G1 plemev (iv) DNA ugwimgev
GLseooL 0 Hleysmsefledmbe Fiflwmer aflemLemwsd CHIHG &(H& & aLD.

@ Mm @ @@
(1) (i) Gv) @G @)
(2) (i) @G @ (iv)
(3) (iv) () G (@D
(4) (iv) @@  @G) (i)
Answer (4)

Now a days it is possible to detect the mutated gene causing cancer by allowing radioactive

probe to hybridise its complimentary DNA in a clone of cells, followed by its detection using

autoradiography because:

(1) mutated gene does not appear on photographic film as the probe has complementarity
with it.

(2) mutated gene partially appears on a photographic film.

(3) mutated gene completely and clearly appears on a photographic film.

(4) mutated gene does not appear on a photographic film as the probe has no
complementarity with it.

SNEHTVSH6 HH) GLIHHSID QEFWWLILLL QFasefley &Hfluiss Hieoreor el em

HT @ emevorlmeor DNA - emel &Heulll] Q&L IGILSET epeuld  LimmiGHTen W

2 @ITLMEGL FOH WLIMMWLHES WLIUsImas: Sl Q&TLIbHSI

&SHHWESL LULQWL®BLUIL eumuileunsd &eoor el @ ulsviid. 66lerenfley,

(1) mevoteoorTUINUIL6TT 6R5SI600TTE] 2 6TeNSHML FHIGHTMMID MBS LOFLSD 6(H
eefllILLFa@merlev LiuLiL(heUSH60emev.

(2) FEHLIMHMID MLHSH LOFLS 6 6fllILLE S&@mefled LUGHWME LeoliLuGSmS!.

(3) FOHLIMHMID IOLBS WLILUT) @@ eefllLLF&@meTled  (WDLWEMLDWITS 6LD,
Qoeflaumsean LewliLGSmS.

(4) mievoTenorMUIENUL 63T RSHSIEOUT6] G LLTHSHMU FOGH MMM L BS WFLSTD (b
eefllULF&merfled LisuLliLiBeu&evemev.

Answer (4)
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ZOOLOGY
SECTION - A
150. Erythropoietin hormone which stimulates R.B.C. formation is produced by:

(1) Juxtaglomerular cells of the kidney
(2) Alpha cells of pancreas
(3) The cells of rostral adenohypophysis
(4) The cells of bone marrow
R.B.C. 2 (haun& & G605 Sneoor(hld 6TflGEImUMUIL 60T amMTGLOMET 61&H60T eLReVD 2 MLISH)
QEUWLILGHMS?
(1) PBressSH 6T Q&L TRETTIOEHT O F605 6T
(2) HMETUWSH6L 2 6T6T QLEVLIT ClF6V56IT
(3) GmeLLp6L 2419 CeoTmemamLIGLITem LIFIe G &F608: 6T
(4) eTavilDL] DM QF6LE 6T
Answer (1)

151. Which of the following characteristics is incorrect with respect to cockroach?
(1) 10t abdominal segment in both sexes, bears a pair of anal cerci
(2) Aring of gastric caeca is present at the junction of midgut and hind gut
(3) Hypopharynx lies within the cavity enclosed by the mouth parts
(4) IN females, 7t — gth sterma together form a genital pouch

G LG 600T L eUMMIGT 6THG LIeoorL] &JLILIMET LEFF GMSS SHeummersi?

(1) Sevor IDMHMID QLIetor L& F &erfler 10-6ug auuillmmis SevoTLLD @ @)6m6etor LOEVLIL|60) LD
&H600T1Q.60)60T G LIM MIGTETSI.

(2) el L euWimm BLA&6T BHEGLD LN6TG LD @emn6eoTuld G L &SFH6D 2 6Terg.

(3) aumwmiligsserfleormey @GOLUILLL GWIEG6T BIT6 & 2_6Tengl.

(4) Quesor WEFRUNL 7-9 eauempullevmerr EVGILJOTTHEET @) 6060 S @) 60TL16m LI L
2 (HOUMEHGHMS.

Answer (2)

152. Succus entericus is referred to as:

(1) Chyme (2) Pancreatic juice
(3) Intestinal juice (4) Gastric juice
F& 561 6T60TL_[fl&H e eTedT LIS

(1) @evyLliemu LUMG (2) semevorwd By
(3) L6 By (4) @evrlienu iy
Answer (3)
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153. Which stage of meiotic prophase shows terminalisation of chiasmata as its distinctive
feature?
(1) Pachytene (2) Leptotene
(3) Zygotene (4) Diakinesis
& WMeVGLOL LT (PI96eMIG60 HlsLpenel A mUiL] Ueormg: &ermev LNifley LGrmGL erd et
Blemev 6rsI?
(1) uTESIe 6T (2) QevLIGLITLe 60T
(3) &8C8s I 60T (4) emLwWimen & eord 61V
Answer (4)

154. The partial pressures (in mm Hg) of oxygen (O2) and carbon dioxide (CO-2) at alveoli (the site
of diffusion) are:
(1) pO2 = 159 and pCO:2 = 0.3
(2) pO:2 = 104 and pCO:2 = 40
(3) pO2 = 40 and pCO: = 45
(4) pO2 = 95 and pCO:2 = 40
STHM Hevoreooren & 6fley  allgagser BeOLQUMID @LSEH wHARar (02) wmoib
STTLET-mL-p&em&FI9er (CO2) LUGH SWsHSSHer (mm Hg) oi6m6|s6T:
(1) pO2 = 159 wHmib pCO2 = 0.3
(2) pO:2 = 104 WMo pCO:= = 40
(3) pO= = 40 LO@ILD pCO:= = 45
(4) pO2 = 95 O pCO2 = 40

Answer (2)
155. Match the following:
List — I List — II
(a) Physalia (i) Pearl oyster
(b) Limulus (ii) Portuguese Man of War
(c) Ancylostoma (iii) Livinig fossil
(d) Pinctada (iv) Hookworm

Choose the correct answer from the options given below:
@ ® © (@

(1) (D (iv) (i) (i)

(2) (i Gy @O  Gv)

(3) (iv) (@ (ii) (i)

(4) i ) Gv) @

LCiquiev - I'ggulquiey - IT 2 L e QUITHSHSIS.

urguwev - I uLiguwev - II
(a) emugmeSlwim (1) wssg AU
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(b) &S weveiv (i) CuMIssIsGER W GuTy afFer
(c) @peTemd Geumerv@LrTom (i) 2.ulT eump Lemg Ll LoD

(d) Vs LLm (iv) @&msaHI0 1w

GLserL Qg fleyseflogflwmer allemLenwd CHIHEHH & HaLD.
(1) (D (v) (i) (i)

(2) (i) (@) @ (iv)

(3) (iv) (@) (i) (D)

(4) (i G G @

Answer (4)

During the process of gene amplification using PCR, if very high temperature is not
maintained in the beginning, then which of the following steps of PCR will be affected first?
(1) Ligation (2) Annealing

(3) Extension (4) Denaturation

PCR & LweTLGISH 86T QLIHEHS QFWemev GLMQ & TETEBID CUMSI, LU Blemev ul 6L
o2 Wy Qeuliumlemevy upgmfl&sUULTS  CuUTE Llatal@ld 6THS LG Blemney  (NSH656v
UMH&&HL LQSmSE?

(1) eLOs (2) UBLILHS SIS
(3) HL& (4) @wev Bl
Answer (4)

Match List — I with List — IT

List — I List — II
(a) Aspergillus niger (i) Acetic Acid
(b) Acetobacter aceti (i) Lactic Acid
(c¢) Clostridium butylicum (iii) Citric Acid
(d) Lactobacillus (iv) Butyric Acid

Choose the correct answer from the options given below:
@ M @ (@

(1) v) @) @@ @)

(2) ) @O G (3G

(3) » @ ) Gv)

(4) @ O G

LCiquiev - ITuliquiey - II 2 L 6T QUT(h &SI .

LcCiguiev - I Ul iquiev - II
(a) spervuFedleveveiy - (1) 99198 gjdlevid
(b) R CLMTUMELT &g - (i) evms 198 Ijdlevid
(c) ®ermervig fliguild L 196e0& a0 - (i) A Lifls udlevid
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(d) GevaGLIT GLF 6vevE - (iv) YL fle 9dlevd
(Q&TLGID Q&F6LSH6T)
GLpsevorLeummieT Fiflwmer ellenlenwl CHIHO & (IS aLD.
@ Mm @ @@
(1) iv) (@) @ (iii)
(2) (i) () Giv) (D)
(3) (D (i) G Gv)
(4) (i G @O  (>Gv)
Answer (2)

Which of the following statements wrongly represents the nature of smooth muscle?

(1) These muscles are present in the wall of blood vessels

(2) These muscle have no striations

(3) They are involuntary muscles

(4) Communication among the cells is performed by intercalated discs

B LG0T LM MIET GQLO6TSmE W6 @ Wevemll GG @D SaIMmTeT eUMHESHIUID 6T5I?

(1) @565Mm556 QUHHE GLMUIS6TlET Gaimniley 2 6Tergl.

(2) @euauems Fanguilley auflwenioliL] HenLWITs.

(3) @em6Us6T @) UIKIEG HMEFSHET ILGLD.

(4) QFLEEREHEG @aLCWWmaT QSTLILGET QFLmLES SLBHISG&HET  epeuld
BHOLQLUMISH M.

Answer (4)

Chronic auto immune disorder affecting neuro muscular junction leading to fatigue,
weakening and paralysis of skeletal muscle is called as:

(1) Gout (2) Arthritis

(3) Muscular dystrophy (4) Myasthenia gravis

BIeTULL & SMLESTLIL GHTWITL BILL SH&F @ emneoorlil] UMH&EHLILLM 35 60T
el gmUBL Sensd GFMiel, SeF Leldplil MmN USSITHID G eleumm

MPSH & LILIORMSI.

(1) Sevaurmsld (2) epl_{meusd

(3) T Femnsay (4) emwwevGeoflwim Symaier
Answer (4)

Persons with ‘AB’ blood group are called as “Universal recipients”. This is due to:

(1) Absence of antibodies, anti-A and anti-B, in plasma
(2) Absence of antigens A and B on the surface of RBCs
(3) Absence of antigens A and B in plasma
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(4) Presence of antibodies, anti-A and anti-B, on RBCs

‘AB’ @I58 Q5MTGH W 2 emLWelT "GILMSIaUTeT GLIMIBT" 6TedTm emLps &L LIGIGMITT.
@5ME&E & MTJ6oorLD:

(1) Wermerunmedleh o,60TIq LITIQ&H 6T, 26071 -A LDMHMID 24,6071 -B &5 mevor LiLI(hleuH) 6Lem6v.

(2) RBC sa&erfler LFLitfley oueoriq 26T A Lommild B & mevoriLI(hleu euemev.

(3) Wermervinmeiley oueoTIq 82657 A LoMMID B & mevor LiLI(heuG 6Lemev.

(4) RBC s&erfleb QL60TIq LIMIQ&6T, L6071 — A oM MID L6011 — B &meoorLiILGS m Sl

Answer (1)

The fruit fly has 8 chromosomes (2n) in each cell. During interphase of Mitosis if the number
of chromosomes at G: phase is 8, what would be the number of chromosomes after S phase?
(1) 32 (2) 8

(3) 16 (4) 4

LUpULFRWeT  alQeaum@m QFedsuid  (2n) et 8  &GITGLTGEHFIT DS 60 6T
Qamevor(heTeTgl. el LT&Hlev  LUGLYear  @enLBlemevullesr Gi Blemevulev 8
GGITELTCFTID&GET @ UHSHTL S BlawsdE et assamer  &GCImGTGH ITIDS 6T

&5 1meoor L1LI(hILD?

(1) 32 (2) 8
(3) 16 (4) 4
Answer (2)

Receptors for sperm binding in mammals are present on:
(1) Zona pellucida (2) Corona radiata
(3) Vitelline membrane (4) Perivitelline space

Ll 1g & erfle ellba Q&F6L LN6n6torsen & & meor M LING 6T & mesor LILI(BILD @) LLD:

(1) GFmeorm QUAIF LT (2) GammGrmeotm Gy GUIL_LIT
(3) emauL LemeuesT Fele (4) Quflemeul Lemevest @) 6mLGleuerf]
Answer (1)

Which one of the following belongs to the family Muscidae?

(1) House fly (2) Fire fly

(3) Grasshopper (4) Cockroach
LNesreu@eausoreummiley 6168 et INWACL GOIDLSNSHF CFTHSSI?
(1) ef( (2) Weridesfll L&

(3) Qau_(pm&Herl (4) syLILTeT LFS
Answer (1)
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164. Identify the incorrect pair:
(1) Drugs - Ricin
(2) Alkaloids - Codeine
(3) Toxin - Abrin
(4) Lectins - Concanavalin A
HEUMITEOT @) 6 600Tem U & 600T L_MIluleLD:
(1) GuMmeMS LOIHHSHIG 6T - 16 607
(2) @yeLa:meLTUIHS 6T - @& ITLq.60T
(3) B&& - Sjuiflesr
(4) Qevs1qeTSH 6T - & IT60T & 60T eUMeOl 60T A
Answer (1)

165. Veneral diseases can spread through:
(a) Using sterile needles
(b) Transfusion of blood from infected person
(¢) Infected mother to foetus
(d) Kissing
(e) Inheritance
Choose the correct answer from the option given below:
(1) (a) and (c) only
(2) (a), (b) and (c) only
(3) (b), (¢) and (d) only
(4) (b) and (c) only
Lmevellemeot CBHITUISET @)&60T CLNEVLOMS LITeUs Sn(hlLD:
(a) W Besb QFUIWLILLL 260G g&emeT LIW6TLH&SI560
(b) eprwmm wellsFflLd @b @UISHSD 6LMIGE
(¢) GBmWMM FTUILLD QBHS GLHMSSE
(d) wssU0 S0
(e) LIS HLSH6
GLpsevorLaummieT Fiflwmer ellemnlenwl CHIHG &0\ & aLD.
(1) (a) Houd (¢) L@
(2) (a), (b) Haud (¢) LW
(3) (b), (¢) OmibH (d) LLGWD
(4) (b) Hod (c) LLGLD
Answer (4)

166. The organelles that are included in the endomembrane system are:
(1) Golgi complex, Endoplasmic, Reticulum, Mitochondria and Lysosomes
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(2) Endoplasmic reticulum, Mitochondria, Ribosomes and Lysosomes
(3) Endoplasmic reticulum, Golgi complex, Lysosomes and Vacuoles
(4) Golgi complex, Mitochondria, Ribosomes and Lysosomes

I|HEFF6| eMLOLIL| 2 6TaTL & 2 6T6m Q1 &6V [Hl6uoTesnl mILIL|& 6T

(1) Gxmmevend QFMGLIL, A&LINNeTTF alemevlenloliL], el GLIT &mevoriq fluim
D6eVETF MGEF TN 6T

(2) suletne  euemevwenloliL], el GLmameoorqflwm,  flGUTCHF M 6T
VGBS MB&F TLDS 6T

(3) ssUNaTTE amewelL], GHMLend QSTGLIL, MeCHFTCEF TG 6T
QUMHGH CUIMEL S 6T

(4) GmmLemns QBMGLIL, 6Ll GLT8s mevor Lq. [l m, FGUITGEF ML & 6T

MeVBFMTCF MDGS 61T

Answer (3)

LOM MILD

LM mILD

LOM MILD

LOM MILD

167. For effective treatment of the disease, early diagnosis and understanding its pathophysiology is
very important. Which of the following molecular diagnostic techniques is very useful for early

detection?

168.

(1) Hybridization Technique
(2) Western Blotting Technique
(3) Southern Blotting Technique
(4) ELISA Technique

CBTUSEE Fmbs FRFmFwWellEs WPEToL 1IQCW GBMTUl SeoorLmMldey Wwmmih GBTul

2 LMmAsFwedlweder Uflseh Wsad WWHEHWIDMETE. GBS 600TL UM MIGT (LN6T Jal 1 G

GBIl SHeoTLMISNEG 6THS eTaleVTer eLNEVESn M (LN60TTx L 1q Gl GBITUI & e6vor Ll u] LD

@@ Q&6 B LD LweaTL®G&SMmSI?

(1) seuliy QFWS QSMLNeLHILLID

(2) QeausvLigerr MMl ehHiES QTSI B LD
(3) szi6T DM TOSHSHL QBHMPELBILLID

(4) ELISA Qsmiflevm LD

Answer (3/4%)

With regard to insulin choose correct options.

(a) C-peptide is not present in matue insulin.

(b) The insulin produced by rDNA technology has C-peptide.

(c) The pro-insulin has C-peptide

(d) A-peptide and B-peptide of insulin are interconnected by disulphide bridges.
Choose the correct answer from the option given below:

(1) (a) and (d) only

(2) (b) and (d) only
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169.

170.

(3) (b) and (c) only

(4) (@), (c) and (d) only

@ ergedletr QsmLTUmer Fiflwmer QS flasemneT CHIHE &M1& 8 6)LD.

(a) QFwemssl QUMM @ 6raedefley C-QLILIemL (b & meoorLILI(H6UH 6L60I6V.

(b) rDNA QsmbfleomLl LSH 6T epevld 2 (HaumssLlLUlL  @ergader C-Quliemnl (-0
QUM MIGTETSI.

(¢) werplemev @ 6orgred60r C-QULIEML (H-83 QLM MIETETS.

(d) @eraedefler A-QuUlienL (B WHmID B-QuUllemL (& 6T el Fevemnli(h LIMeumi g erflest meu
@) 6060078 & LILIL_(H6iTerTSl.

@LpsevorLeummieT Fiflwmer ellemnlenwl CHIHG & (8 & aLD.

(1) (a) Poid (d) LLELD

(2) (b) Poid (d) LLGIWD

(3) (b) Pad (¢) LLEW

(4) (a), (¢) Oy (d) LLEWD

Answer (4)

A specific recognition sequence identified by endonucleases to make cuts at specific positions
within the DNA is:

(1) Poly(A) tail sequences (2) Degenerate primer sequence

(3) Okazaki sequences (4) Paindromic Nucleotide sequences

DNA aflev MUllL @Lmsefley Qeul (B NS  erevor GLMHIW|& 6rfl GUl 61V & 61T M6V
SevorLOIWLILLL @ GMILILINLL SiemLwimer Q&TLT auflenF&HeT @) 60 6uTE LD:

(1) wev (A) eurmev aurflen &g aiT (2) Fr@meubS (NSETEn aliflens

(3) e&5TH aufleonas et (4) weTVler 55 BluseflGwmemL ()
aiflen & 6T

Answer (4)

Which is the “Only enzyme” that has “Capability” to catalyse Initiation, Elongation and
Termination in the process of transcription in prokaryotes?

(1) DNase (2) DNA dependent DNA polymerase

(3) DNA dependent RNA polymerase (4) DNA Ligase

LGrmGas WL (H&efler LIQQUWRHSS6T CLTS 6THS "CT QBTH" QGTLHEISH mealsHe,
FLAWILHH  LOHMID Bleomeymse)  QFWESEMET "QFWTHGID”  Hmeneor
Q & mevor(h\ 66T ?

(1) DNase (2) DNA griyy DNA umednererv
(3) DNA sy RNA umed ey (4) DNA emeuGas 6
Answer (3)
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171. Which one of the following organisms bears hollow and pneumatic long bones?
(1) Ornithorhynchus (2) Neophron
(3) Hemidactylus (4) Macropus

ElseLammley ebs 2 ulflerid 2 6Tefmm WMHMID &TMHMENMEHEBHL 6T FnlqlUl HevorL
TV LDEDIL] ) &5 ITevoT(h\6ITEITSI?

(1) oyie0fl5CsH T ImI& e (2) BIeWITLiFmest
(3) QamdlLmsemLsvev (4) C&GITL6N
Answer (2)

172. Read the following statements.
(a) Metagenesis is observed in Helminths.
(b) Echinoderms are triploblastic and coelomate animals.
(¢) Round worms have organ-system level of body organization.
(d) Comb plates present in ctenophores help in digestion.
(e) Water vascular system is characteristic of Echinoderms.
Choose the correct answer from the options given below:
(1) (b), (c) and (e) are correct
(2) (e¢), (d) and (e) are correct
(3) (a), (b) and (c) are correct
(4) (), (d) and (e) only
LeTeu®LD 6UMEHSHWMIGH 6T &(IHSIS%.
(a) Qamevdlear&levgefled QL LT 6lF e &meoorILIH&m S
(b) WLEGsM&H6T epeuB&ES LMMID 2 L MG Q& mevor L LOl(H & IS 6T.
(c) 2memeT LW&H6T 2 ML LO6ooTL 6V el Semelleumeor 2 L6 &L Lemlnlien L
QUM MIGTETSI.
(d) eGerm@uMITaE&afley 2 6Tem FLILG 55 BH\H6T QFflHHNES 2 5a|RMII.
(e) BT @6y netorLeuld (WL GHMedl&erfledt FIMUIL] LIeooTL| Q4 LD.
FECY QA&ETH&ESLILULLE 6 Fiflwmear allemLemwl Qsflasefledmba CHTHOHH & & a]D.
@) (b), (c) wpoid (e) &
(2) (o), (d) wHoibd (e) &l
(3) (), (b) LOaLd (¢) &1l
(4) (a), (d) woaibd (&) &
Answer (1)

173. Match List — I with List — II

List—1 List — IT
(a) Vaults (i) Entry of sperm through Cervix is blocked
(b) IUDs (i) Removal of Vas deferens
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(iii)) Phagocytosis of sperms within
The Uterus
(iv) Removal of fallopian tube

(¢) Vasectomy

(d) Tubectomy

Choose the correct answer from the options given below:
@ ® © (@

(1) (i) () (iv) (D)

(2) (iv) (@) @ (i)

(3) (D (i) @G  (Gv)

(4) i  Gv) ) @

LCiquiev — ITuliquiey - II 2 L 6T QUIT(h &SI 5.

aiguiey — I uiguiev — II
(1) s@Lliemu euruilev bl
Blempelangd ShisHeV
(i) elbgl BIeTDd QeUL Ly 6T(HSHH6V
(i) s@mLUemuUleeT allbgl 6C&F6L&HemeT
20560

(d) M5 6L Henl - (iv) &M1& G P60 Qe 19QWHISH 5560

s evorLaummier Fiflwmer ellenenw Q&iflayseafledmhg CHIHO S0 8 S aLD.
@ ®» @© (@

(1) (i) () (iv) (D)

(2) (iv) (@) @ (iii)

(3) (D (i) @G Gv)

(4) (i) Gv) (@G @0

Answer (3)

(a) wemmLIL] Hemrmss6iT -

(b) 2_atm@mLIemnL Frgeorid (IUDs)
(c) eNb318: G060 SHeml h

Sphincter of oddi is present at:

(1) Junction of jejunum and duodenum

(2) Ileo-caecal junction

(3) Junction of hepato-pancreatic duct and duodenum
(4) Gastro-oesophageal jun

R H(H&HGS NG 6THIG &MeooTLILH&SMmSI?

(1) QeOLFRMGL HMILD NET F ML 696T &FHGLIL
(2) Year misL6) QUBEIGLO Lgiss FhE L

(3) &6v6STeL HEM6TITW QUIMSIBTETID MMILD (LNETH MIGL 6V @) 6mr6vorLiL]
(4) @eTLUemU 2 e s &6 &FhSILL

Answer (3)
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175. If Adenine makes 30% of the DNA molecule, what will be the percentage of Thymine,
Guanine and Cytosine in it?
(1))T:20;G:25;C:25 (2)T:20;G:30;C: 20
(3)T:20;G:20;C:30 (4)T:30;G:20;C:20
@@ DNA epev&:snm 30% 3|1 6M6T6aT-3h60 2858 LILILIQMHHSTY 60U 60T, (G 6MUT60) 60T 60T
MHMILD &L CLTM&FT S ueummletr F&5afsHID 6Teoreor?

(1)T:20;G:25;C:25 (2)T:20;G:30;C:20
(3)T:20;G:20;C:30 (4)T:30;G:20;C:20
Answer (4)

176. Match List — I with List — II

List - I List — II
(a) Metamerism (i) Coelenterata
(b) Canal system (ii) Ctenophora
(c) Comb plates (iii)) Annelida
(d) Cnidoblasts (iv) Porifera

Choose the correct answer from the options given below:
@ M @ (@

(1) (v) @@  @G) (i)

(2) (iv) (i) (@ (ii)

(3) (i) (@Gv) (@ (ii)

(4) (i) Gv) @) @)

Ulgwev — I uliquwey - II o L 6T QUMTHSSI5.

UCiguwev - I U guwev - II
(a) & 60oTLMIG6MMTE & LD G (1) eWwyLed&ser
(QLLmQwifl&LD)
(b) &MeLEUTUI LDEDOTL6VLD - (i) 19 Georm@UITTT
(c) EUIys 550O\&6T - (iii) euemeTHZMTF L|(D& S 6T
(d) pleLmiermevL - (iv) siemeTuyL 69 & 6T

(Q&BTL(BILD QF6LE6IT)

Nereuld Qsifleysefley siflwmer aflemLemw CHIHE&HH 8 5 aLD.
@ ®» © (@

(1) (iv) (@) (i) (i)

(2) (iv) (i) @ (ii)

(3) (i) (@Gv) (@ (ii)

(4) (i) Gv) @) @

Answer (4)
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177. Which enzyme is responsible for the conversion of inactive fibrinogens to fibrinns?
(1) Thrombokiase (2) Thrombin
(3) Renin (4) Epinephrine
Qwevmm enULNfIGerTar&:emneT enLLflargGerms MMM Q&FWILD QBTSH 6r&5?
(1) SmbCUITen & Georeny (2) symibLiesr
(3) @evfledr (4) e N@BLIAeoT
Answer (2)

178. Which of the following is not an objective of Biofortification in crops?

179.

180.

(1) Improve micronutrient and mineral content

(2) Improve protein content

(3) Improve resistance to diseases

(4) Improve vitamin content

LY esreumeusoreummley ergl 2 ully 2arl LId gmmUul L UulT STeUrmis EhHe & mer GhTs & 1D
S{6V6V7?

(1) mievor 2enl L QUTHLG6T LDMHMID HMTSHIEE6T 6ememnel GDLMHSSIS560

(2) 4B S6eTeney GULIDLIGSSISE

(3) CrTUI TR ILIL SetTemlneml GLDLI()SSI&H60

(4) emaul LLSletT 2jememey GLODLI(H S SIS 60

Answer (3)

Dobson units are used to measure thickness of:

(1) Troposphere (2) CFCs

(3) Stratosphere (4) Ozone

LITUIZF6T 6V@& & 6T 6THI6mL I HLq 06060 688 LIWLeTLOHMSI?
(1) LpmGumerowiy (2) CFCs

(3) ervmym@LmeruLw iy (4) eG& metr

Answer (2)

Which one of the following is an example of Hormone releasing IUD?
(1) Multiload 375 (2) CuT

(3) LNG 20 (4) Cu7y

LN esTeu(peustTeum miaT 61& ammICLmer Qeusflul®Gid 2 6T &pLliemu FngearsHme (IUD)
2_GITJ600TLD?

(1) Multiload 375 (2) CuT

(3) LNG 20 (4) Cuy

Answer (3)
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182.

183.

184.

The centriole undergoes duplication during:

(1) G2 phase (2) S-phase

(3) Prophase (4) Metaphase
QT flGwmey @ UL 958560 6TLIGUIME HLQUMISMS?

(1) G2 Blemev (2) S- Blemev

(3) yGymGLIeL (4) QL LrGuUe6N
Answer (2)

Which of the following RNAs is not required for the synthesis of protein?

(1) siRNA (2) mRNA

(3) tRNA (4) TRNA

G eoor 6Ths RNA LIS 2 (haumsa5HMEG CoHemallll(heausH e0em 60?
(1) siRNA (2) mRNA

(3) tRNA (4) TRNA

Answer (1)

In a cross between a male and female, both heterozygous for sickle cell anaemia gene, what
percentage of the progeny will be diseased?

(1) 100% (2) 50%

(3) 75% (4) 25%

QamL 1qCrmengsen IflaumeT Q&6 @UHS GBITUI 2360TE 6T G & ME0oTL L6007 LOMMILD G LI6voT
QUGG QL CW SHeulll BFLEGLLCUMS CFU HmeuWenmWled edgHemen FHals D
GUT Grmemwl QUMM LILITIS6T?

(1) 100% (2) 50%
(3) 75% (4) 25%
Answer (4)

Select the favourable conditions required for the formation of oxyhaemoglobin at the alveoli.
(1) Low pO2, low pCO2, more H*, higher temperature

(2) High pO2, low pCO-2, less H*, lower temperature

(3) Low pO-, high pCO2, more H+, higher temperature

(4) High pO-2, high pCO-, less H*, higher temperature

STMHM Hlevoreooren &6l sHFaGm GGeTmLleT 2 (Haums&HESHMEGSG CHemaullL(h LD
g3lalmeT BlemnevsemneT CHIa QF 1.

(1) ®em pO2, @emm pCO2, 91H& H*, 2 wWiHe G euliLiblenev

(2) 2wy pO2, emm pCO2, Gemmeurmeor H, Gemmbs G euliLimlemney

(3) ®emm pO2, 2wy pCO2, AH & H+, 2 WiIHs GelliLpleney
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186.

(4) 2wy pO2, 2wy pCO2, Gemmeurmesr H, 2 WTHE G 6uliLIBlemev
Answer (2)

Match List — I with List — IT

List — I List — II
(a) Allen’s Rule (i) Kangaroo rat
(b) Physiological adaptation (ii) Desert lizard
(c) Behavioural adaptation (iii) Marine fish at depth
(d) Biochemical adaptation (iv) Polar seal

Choose the correct answer from the options given below:
@ M @ (@@

(1) (v) () @) @

(2) Gv) @@ G @)

(3) v) (@ @G (D)

(4) v) @ @) (i)

LCiguev — I uliquiey - IT 2 L 6T QUIT(h S SI5.

UCiguwey - I uLCiguev - IT
(a) syeverfleT NG - (1) smIsT®m 616l
(b) 2. LMmAFWei w6 SHeuamwLIL] - (il) umemeveUedT LicLES
(c) BLEHMS H&HalemInLIL] - (iil) oHH 6L s meoorliL(BID &L 6V L6t
(d) 2w CausHulwiey HoauemILIL] - (iv) s1meu Fev

GLpsevorLeummieT Fiflwmer ellenlenwl CHIHG S (H\8 & aLD.
@ O® @© (@

(1) (iv) () @G) @

(2) G(iv) @) @) @

(3) (iv) @ (i) (i)

(4) (iv) @ () (i)

Answer (4)

Match List — I with List — IT

List — I List — II
(a) Adaptive radiation (1) Selection of resistant varieties due to
Excessive use of herbicides and pesticides
(b) Convergent evolution (i) Bones of forelimbs in Mand and Whale
(c) Divergent evolution (iii) Wings of Butterfly and Bird
(d) Evolution by anthropogenic action (iv) Darwin Finches

Choose the correct answer from the options given below:

@ Mm (© (@@
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(1) ®  Gv) (@) (D)
(2) (v) G @@ )

(3) a G O  Gv)
(4) a @  Gv) (i)

LCiguev — I uliquiey - IT 2 LT QUTh S SI5.

Urigweo - I uLigwev - IT

(a) Bs&eauemDLIL] LIT6u6) - (1) B & LILIQUITET 8 6M 686 & MeL60) &5 6iT
MMILD LLEF & &6 & MmeL 60 & 6T

(b) @& Lflevor o - (i) wevflger WMHMID LM EVESH6ET (LNESTEm 8
6TV LDL| &5 6iT

(c) el uflevor Lo - (iil) umemar WMMILD LI L mibu,& & ullesr
@M &S & 6T

(d) wesfld Q& wWe6L eLpeuLDd

uflesormioLd - (iv) Lmyelleoflesr & @ eilss 6T
Answer (2)

187. Which of these is not an important component of initiation of parturition in humans?
(1) Release of Prolactin
(2) Increase in estrogen and progesterone ratio
(3) Synthesis of prostaglandins
(4) Release of Oxytocin
@eaumnilev 615l D6flF 6L &HLICLIM SI66&HSEFET CLMS (N&HSRWILDTET FonM)l 60607
(1) yGgmevmaqer Qeueflul(H&HeL
(2) FeuL_CrmeeT MM LCTTG e Crmear alHslh 98 &fs560
(3) UCTMENVBLTH 6MTITEITIQ 6T 2 MLISH
(4) 2&FRCLTR T G euafluli(higev
Answer (1)

188. Which one of the following statements about Histones is wrong?
(1) Histones carry positive charge in the side chain
(2) Histones are organized to form a unit of 8 molecules
(3) The ph of histones is slightly acidic
(4) Histones are rich in amino acids — Lysine and Arginine
LNesTau@d Fommisserfle ameCLMers6T GMISHS SHeUMTET SnMml 6TSI?
(1) anflevBLMaTEHeT LSS5 FriHeSuley GBI senlneml &ITHIG U 6TemeoT.
(2) anjlervGL MeoTss 6T 8 VG LN 6V B M1 & GITITEV 62 (T 61 691 60) 600T 55 &5 Ll NG
2 (HEUTE S LILL (H6TeTSl.
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(3) aMlev@Lreflest pH &mMEM 2iflevd HeiTemD 2 0L WG 3@ LD.

(4) amlevGLmeTSH6fleL emevFleT WMmMID FSlementedt S LOICeTT eV BIGET QFflHS
o _GITeng).

Answer (3)

During muscular contraction which of the following events occur?

(a) ‘H’ zone disappears

(b) ‘A’ band widens

(¢) T band reduces in width

(d) Myosine hydrolyzes ATP, releasing the ADP and Pi

(e) Z-lines attached to actins are pulled inwards

Choose the correct answer from the options given below:

(1) (b), (d), (e), (a) only

(2) (a), (c), (d), (e) only

(3) (a), (b), (c), (d) only

(4) (b), (¢), (d), (e) only

FHOFF F(H&HHSHH 6T CUMSI BLDG&H600TL 6T[HG NGLOMET [Hl&LD6Y S 6T 560 L6 LIMISH 60T M 60T?
(a) ‘H’ wevorLeuld LDedm&BMmSI

(b) ‘A’ LlenL SBLTRMSI

(c) T ulenL 950EHH6 GOMHMS

(d) emwewr&er ATP emw BrmrmuE&GSs ADP wmmib Pi 8 QeueflWGSma:
() 2519l 6T @ eneordaLlILL(eTer Z auiflend 2 6TL&SHIMS @ WEHEL LGS
FEC QHTH&HSLILLLTL Fiflwmer alenLeamusd CHITHG &(H& & eaLD.

(1) (b), (d), (e), (a) LLEWD

(2) (a), (c), (d), (e) LLGBID

(3) (a), (b), (c), (d) LLGHILD

(4) (b), (¢), (d), (e) LLEWD

Answer (2)

Match List — I with List — II

List — I List — II
(a) Scapula (i) Cartilaginous joints
(b) Cranium (ii) Flat bone
(¢) Sternum (iii) Fibrous joints
(d) Vertebral column (iv) Triangular flat bone

Choose the correct answer from the options given below:
@ M @ (@@
(1) (v) (i) @) @
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(2) ® G @@ Gv)
(3) ) G Gv) ()
(4) (v) G) (@) ()

UCigwev — I uliquey - IT o LT QUThSSI5.

LCiguiev — I L igquev - II
(a) CameTLL emL 6TevllDL] - (1) 5MHHHNILDL| ©)60)600TLIL| 56T
(b) ssumevld - (i) sL6mL eTevilDL]
(¢) LMFQuUaILDL] - (iii) ®Bry el (H&s6iT
(d) WaEsENIDL QHTLIT - (iv) W& GameooT HL_6ML 6T6YILDL |

@LpsevorLeummieT Fiflwmer ellemnlenwl CHIHG & (8 & aLD.
@ ® © (@

€] (iv) (i) @G) (@)

(2) (D (i) @G  Gv)

(3) i ) Gv) @

(4) G(iv) @) @) (@

Answer (1)
191. Assertion (A) A person goes to high altitude and experiences ‘altitude sickness’ with
symptoms like breathing difficulty and heart palpitations.
Reason (R) : Due to low atmospheric pressure at high altitude, the body does not

get sufficient oxygen.

In the light of the above statements, choose the correct answer from the options given below:

(1) (A) is false but (R) is true

(2) Both (A) and (R) are true and (R) is the correct explanation of (A)

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(4) (A) is true but (R) is false

Famol (A) : @@ BUT 2 Wil L @LMBISEHSHEG CFaDCLMS FMTFSH FFLom
WOHMID @&SW ULULLL&HEBLET "2 WFLL 2 L6V [Hevdh Gemme|” — 9
ISR M.

&meoorid (R) : 2wl L @LEISGET 2 66T Genmbs euerl LD6TITL 6V S(D&HFLD
HITJEO0TLONG 2_L V& & CHemeUWITeT 2,8 F6T HemL LILIFH6Vemev.

GLM&EOTL. FaMMI LOMMILD & TF600T MG 6rfledT 2 evoremoufledTiily H6L Q& T(HIE & LILL (H6Ter

Qsfleyseafley Fflwmarensds CHIHE S (H\8 S )LD.

(1) (A) soumy ety (R) &if]

(2) (A) wpoibd (R) @ueor®b &ifl wHmib (A) eMe (R) &Flwmer &myemrd ouw@ L.

(3) (A) mpmiid (R) @uevor(hid &ifl opeormev (A) el & (R) siflwimer &myesorid SemL WM.

(4) (A) &1l peormeL (R) Heum.

Answer (2)
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192. The Adenosine deaminase deficiency results into

(1) Addison’s disease (2) Dysfunction of Immune system

(3) Parkinson’s disease (4) Digestive disorder

3|19 Geormen FeirT 192 CeoTelv GenmUT(H eTem s elemerellGHIMm &i?

(1) oqFefler GEHMUI (2) GBI L aTUNWe Q&FwedlpLiL
(3) UMTT&SH eTFefleor GBIl (4) Q& flomer &eamuUTH & 6T

Answer (2)

193. Which of the following is not a step in Multiple Ovulation Embryo Transfer Technology

(MOET)?

(1) Fertilized eggs are transferred to surrogate mothers at 8-32 cell stage

(2) Cow is administered hormone having LH like activity for super ovulation

(3) Cow yields about 6-8 eggs at a time

(4) Cow is fertilized by artificial insemination

Nerau@malsoreummley  eThg L Blemey Liev Sjeoor. QeuefllGumm &@ Wwmmm Qs mdlev

BILusHe (MOET) @e6vemeu?

(1) smeurmenial 8-32 Q&6 Blemevuilled @ H&GDCLME IS QUTLNGS ST & LiemLuiley
LTHOULRSRMS.

(2) FaBev SMmassEH6T QalauMsasEsTs: usellmeg LH Cumearm Q&Fweurd
Q& mevor. @amMTIGLOMET QFNSSLILGSHMS.

(3) us @M CHISHEL 6-8 &([HeUTVGHSHEMET I6flGHMS.

(4) us QEFWMeNsE ABSTL LD ePEVD & [He MG QFWLWLILGSHMSI.

Answer (2)

194. Match List — I with List — II

List — I List — II
(a) Filariasis (i) Haemophilus influenzae
(b) Amoebiasis (ii) Trichophyton
(¢) Pneumonia (iii) Wuchereria bancrofti
(d) Ringworm (iv) Entamoeba histolytica

Choose the correct answer from the options given below:
@ M @ (@
(1) (i G @O  (>(Gv)
(2) (v) @ G (D)
(3) (i) Gv) @O (@)
(4) o» G Gv) (i)
ulgwey — T uliguiey — I 2 L6t QUTHSSIS.
Uriguwey - I ULriguwe - IT
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(a) wmemeord & M6L GIBITU - (1) enfGLomLNemeny @) 60TL| @B ULIGTTE IT
(b) o898 FxCUS) - (i) 196 CsIT 6mLIL_ L MTedT
(¢) mlGwmesfluum - (i) e_Fefflum umarSImsLilg
(d) UL HTWeny - (iv) etedTLLSLIT efl6ruGL Mem6VLq.& T

GLpsevorLeummieT Fiflwmer ellemnlenwl CHIHG & (& & aLD.
@ b @© @

(1) i) ) @ (iv)

(2) (iv) @ (i) (i)

(3) (i) (@Gv) @ (ii)

(4) (D (i)  (Gv) (i)

Answer (3)

195. Following are the statements with reference to ‘lipids’.

(a) Lipids having only single bonds are called unsaturated fatty acids.

(b) Lecithin is a phospholipid.

(¢) Trihydroxy propane is glycerol.

(d) Palmitic acid has 20 carbon atoms including carboxyl carbon

Choose the correct answer from the options given below:

(1) (b) and (e) only

(2) (a) and (b) only

(3) () and (d) only

(4) (b) and (c) only

Heraumuenal UGS 6T LML FoMMIG&6T & LD.

(a) emenm LNemeoorLien Ll G & meooT(n6iTelm Q& MR LILG 6T Blemmamm Q& MpLIL] | LOl6VEIS 6T
6TEOTMI SMP&HEHLILORMSI.

(b) QevRET 6T s LIMerLGUT eNLILN( 2@ LD.

() wengemaml Frsd LGTTLIGCLIET 6TeTLgS SeflEFme 9@ L.

(d) umeudlLLIg8 fleVld STIUMEF STIUSIL 6T CFIHE 20 SHMTLIT |08 5 6m6Ts
Q & mevor(H 6T S

() SIpTsERCLMaE Lfleud 16 HTTLICT 36088 6M6T8 6 & MeuoT(H6TemS.

FECY QA&TH&ESLIULBeTer Fiflwmear allemlemul CSIHE &(H\& 8 aLD.

(1) (b) HaLd (e) LLELD

(2) () poid (b) LG

(3) (¢) mHabd (d) GO

(4) (b) LHAYLD (¢) LHAYLD

Answer (4)
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196.

197.

198.

Following are the statements about prostomium of earthworm.

(a) Itserves as a covering for mouth.

(b) It helps to open cracks in the soil into which it can crawl.

(c) Itis one of the sensory structures.

(d) Itis the first body segment.

Choose the correct answer from the options given below:

(1) (b) and (c) are correct

(2) (a), (b) and (c) are correct

(3) (a), (b) and (d) are correct

(4) (a), (b), (c¢) and (d) are correct

Nesrau@Lemel eoorL|pelledr Caug(h LML FoMMmIG 6T & LD.

(a) @& aumemwl 2 _emm CUIMeTM ep(HILD Lisooflenl Q& UISRMSI.

(b) w6vOTLI(D LD6DOTEOO G ET 2ETTHSI QFLUSMEG FHIAUTSH LDevoreool 6L 2 6Tem aliflF60& 600 6T
FUIUENESG 2561 QFURMISI.

(c) @& 2601y 2 MiLILG6rfleL eeoTmI.

(d) @& weooTLWeNedT (LPFH6L 2 16D &H60oTL LD G LD.

EC OaTH&SLILLLE Fiflwmear aflanLemw CHIHOSHH & 5 6]LD.

(1) (b) LHaid (¢) &1

(2) (a), (b) woHaid (c) &ifl

(3) (a), (b) wpaud (d) &1

(4) (a), (b), (c) wpaud (d) &ifl

Answer (2)

Which of the following secrets the hormone, relaxin, during the later phase of pregnancy?
(1) Uterus (2) Graafian follicle

(3) Corpus luteum (4) Foetus

LN esTau@mealsoTeummieT &ILIL s&meusHer Liler Blemevulley fleume:&Flesr ammIGLOMene6T 6T&l
FISHMSI?

(1) s@mLemL (2) Spmilwer umed&SHeT

(3) &myUev gL IguilD (4) &®

Answer (3)

StatementI : The condon ‘AUG’ codes for methionine and phenylalanine.
Statement II  : ‘AAA’ and ‘AAG’ both condons code for the amino acid lysine.

In the light of the above statements, choose the correct answer from the options given below:
(1) Statement I is incorrect but Statement II is true

(2) Both Statement I and Statement II are true

(3) Both statement I and Statement II are false
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(4) Statement I is correct but Statement II is false
Famml 1 : ‘AUG’ py #miGss Gmuikh QusHGWmerer MM Llenerey
jeuemenrenr- 8 GOILIHEMS!.
Famml 11 : ‘AAA’ Iommih ‘AAG’ au@w @ revor(h WL FmICHSE &MIUIbH & @FLD

& et LCeTT flevSems GMIWIHHMS!.
GG 2 6Tem Fammisefley Fflwmearensg SECp Q&MHSEHUILLL s flaysefley @mbal
CHIH0 &(H& & 6LD.
(1) Famm -1 seum 601me, Famm — IT Fifl.
(2) Famm -1 mmIDd Famo - I @reor@Ld &ifl.
(3) o -1 OO Gapm - IT GIeorhild Heum.
(4) smmo -1 &l auerme, sammi - I Heumi.
Answer (1)

199. Identify the types of cell junctions that help to stop the leakage of the substances across a
tissue and facilitation of communication with neighbouring cells via rapid transfer of ions
and molecules.

(1) Adhering junctions and Gap junctions, respectively

(2) Gap junctions and Adhering junctions, respectively

(3) Tight junctions and Gap junctions, respectively

(4) Adhering junctions and Tight junctions, respectively

FFEHHEHERMLCUL QUTIHL ST HFl6eysdH HaTemin BMISSHSH0 WMHMID QF5SEHSS S
@6emLBW CeusksLnms jWesflE&eT MMID eLNEVE T MISET epeVld QSTLTL Ufllnmrmm &en &
gHUBSSID Leolldmemer GLMG&TETT 2 56l QFUWIULID QF6) @ene6orliL] 61608 5 6M6rT
& 600T L_M155.

(1) wemBW L (D FHHLILGET LDMHMID G 6L Gelefl FHSHLIL|&ET.

(2) wemmBW @emLQealefl FBHFILILSG6T LMHMID @ (HLD FHSHLIL|GET.

(3) WemMBW @mIs&ImeT FHGFILILISG6T MmN @ L elefl FBHFILILIGET.

(4) WweMBW L (L FHHLILIGET LDMHMID @) MI& 8 L0MeT &FHF)LIL|8 6T

Answer (3)

Q0000
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